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MATLAB )�*+

MATLAB(www.mathworks.com)�	�A�678�
Math Works��/0!��!�"1����67��345	#��

��, 198479�;<�� GH�Y��� >�qr U<:�"&�� �
� KL�� 50!�� >� ��>� 8����%��	 �
�'�. MAT-

LAB�	� MATrix+LABoratory�
 '(�1���/0 ��6� 8��� )�������� s)���*+t,1���� 67��345	#

���� ����	��2�( �Y-9., _̂>�,- ����
�����>��� .����*+��� "#��� :/
IW,- ���1�>�'�. X"��

���������&���/0 8����t,;;� MATLAB�	� <<������ 8�����"��� ���� s)
�� P<!"=#$���� "#��� 67

��345��4� ���1��� ���)���� ��>�	 �
����� >� 0	���/0;< P<'�� QRS���� MATLAB���1���

��1-2%����'�.

�� 1 ��� ����� ��������

1.1 �
��
��
� ���
� ��������

• a�� 1 �
�/ .

>> a = 1 Enter

a = 1

������1���� �/ �?���� qr %=@,-��� u�v7-�� MATLAB>� ������1���� �	
��6���'�. ������1�$� �	


��6t,-�� �/ �?���� ������1� '���( >��!",- �	
��6��� �&%��?@">� wx.����'�.
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>> A’

ans = 1 4 7

2 5 8

3 6 9

• *+-��(command window)�� A���?�%�m� ���)� "#����� KLA�4�"B��(;)��� C+D���'�.

>> a=1;b=2,c=3;

b = 2

• dT���� >�%�(���� 2��6 3$�% ��6� 8(2×3) +�,���.

>> d=[1 2 3;4 5 6]

d = 1 2 3

4 5 6

• d�
 1��6 3$�%�
 ���GH$כ� A���?�.

>> d(1,3)

ans = 3

• 2 × 3�
 כ�$����� A���?�.

>> 2*3

ans = 6

• d�m�0������ �������� ans$כ� A���?�. Default�� ans�� d�m�0�� �&%�� �<כ�$ y-������

'�.

>> ans

ans = 6

• d�m�0������ �������� ans$כ��� 6��� z{%���� ������.
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• ��� ���GH �<"�!כ�$ 0��� 1��6 3$�% ��6� 8(1×3) +�,���.

>> zeros(1,3)

ans = 0 0 0

• AT���� >�%�(���� ��� ���GH �<"�!כ�$ 0��� 4��6 5$�% ��6� 8(4×5) +�,���.

>> A=zeros(4,5)

A = 0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

• A�� $�1�	� l�)��
 ���(zero)��6� 8��� +�,���.

>> zeros(size(A))

ans = 0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

0 0 0 0 0

• l�)�$� 3��� ���"#��6� 8 +�,���.

>> eye(3)

ans = 1 0 0

0 1 0

0 0 1

• ��� ���GH �<"�!כ�$ 1��� 3��6 3$�% ��6� 8(3×3) +�,���.

>> ones(3)

ans = 1 1 1

1 1 1

1 1 1
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>> sum(sum(A))

ans = 45

• A��6� 8�
 ��� $�%�
 s)A'�.כ�$

>> max(A)

ans = 7 8 9

• A��6� 8�
 ��� $�%�
 s).EF$כ�.

>> min(A)

ans = 1 2 3

• max(A)�
 s)A'�.כ�$

>> max(max(A))

ans = 9

• max(A)�
 s).EF$כ�.

>> min(max(A))

ans = 7

• A��6� 8�� B��6� 8�
 ����
.

>> A=[1 2;3 4]

A = 1 2

3 4

>> B=[5 6;7 8]

B = 5 6

7 8

• A��6� 8�� B��6� 8�
 ��� ���GH!�"�
 �
!.
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'���(�	� �������
 ��6� 8�� �
��� 8�(2B������>�'�.

MATLAB ������1� ������ �
A�

A*B AB =

⎛⎜⎝ 1 2

3 4

⎞⎟⎠
⎛⎜⎝ 5 6

7 8

⎞⎟⎠ =

⎛⎜⎝ 19 22

43 50

⎞⎟⎠
A/B or A*inv(B) AB−1 =

⎛⎜⎝ 1 2

3 4

⎞⎟⎠
⎛⎜⎝ −4 3

3.5 2.5

⎞⎟⎠ =

⎛⎜⎝ 3 −2

2 −1

⎞⎟⎠
A\B or inv(A)*B A−1B =

⎛⎜⎝ −2 1

1.5 −0.5

⎞⎟⎠
⎛⎜⎝ 5 6

7 8

⎞⎟⎠ =

⎛⎜⎝ −3 −4

4 5

⎞⎟⎠
A^2 or A*A A2 =

⎛⎜⎝ 1 2

3 4

⎞⎟⎠
⎛⎜⎝ 1 2

3 4

⎞⎟⎠ =

⎛⎜⎝ 7 10

15 22

⎞⎟⎠
"#��/0 ��6� 8�� ��6� 88�>��� 8������� * ������J���� ��6� 8G�H ������J�>�'�. |�T�/0 G�H

%���� }� ��6� 8�
 l�)�$� (n, m) × (m, k) = (n, k)>�1�a~ ���'�. O<��� / ������J���� ���

��6� 8��� G�H%���� ��כ���� ������%��	J� %���� }� ��6� 8�
 l�)�$� $�1���� ����"���6� 8>�1�a~

���'�. >�gL "#��/0 ��� ������J� ��3�� .��� )
���-�� 1�CI� �&%��$� ��U<���m� ���BC=�J�.

MATLAB ������1� ������ �
A�

A.*B

⎛⎜⎝ 1 · 5 2 · 6

3 · 7 4 · 8

⎞⎟⎠ =

⎛⎜⎝ 5 12

21 32

⎞⎟⎠
A.^B

⎛⎜⎝ 15 26

37 48

⎞⎟⎠ =

⎛⎜⎝ 1 64

2187 65536

⎞⎟⎠
������J� ��3�� .>� C+D�M t,-�� ��6� 8�
 $�1�	� "#���� �
���� �������
 ���GH���� ��������� ��

��6%�T���� �
A�>�'�. ���GH�����
 ������>����� 4*�S�.� }� ��6� 8�
 l�)���� ������%��M

�/%����a~ ���'�.
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�"�J� ������1� )�K��

������1� ��$�% , }� �Y >� ���
 ������1���� ��� >���� wx1-2�
' hi

L�Md�(,)��� >����%�19 ��
�����'�.

>��D5
)�)� . . . ������1�$�����E	
1�'���(>����D5
1�$��	�	F

��� hi 8�������'�(Command Window��/0;<

8����$�K��).

( ��) plot(x,y,’--rs’,...

’LineWidth’,2,...

’MarkerEdgeColor’,’k’,...

’MarkerSize’,10)

A���?�19!" ; Command Window ����/0 ������1���� �	
��6

%�-�� *+-���� �&%��$� A���?�t,m�!��, KLA�4�"

B��(;)��� �/ �?�%��	 �	
��6%�-�� A���?�t,m� ����	

workspace��!�� y-������'�.

( ��)

>> a=1;b=2;c=3;

X"��� % ������1��
 ��3�� %��� �/ �?�%�-�� X"������� ��

�����'�.

*+-������� clc clc ������1���� �/ �?�%��	 %=@,-��� ��-�� Com-

mand Window�� wx.�t,���;;� P<'��  
���!�"

>� m�"6���'�.

*+-������� clf clf ������1���� �/ �?�%��	 %=@,-��� ��-�� Fig-

ure�� ��V�7�� P<'�� 34#2G>� m�"6���'�.

&���� ��gL clear &���� */H ��$�%�� �
'8����� "�!כ�$ P<}�  ��gL.

• P<'�� &�������  ��gL : clear all

• ������ &����!�����  ��gL : clear �����	
��
�
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1.2 M-file 	
�	
���

MATLAB��� >����%�19 ���%���� )�K����� ����6%���� �"��� �	� l��M }� $�m��� ��
�����'�.

34#2G 1.1: MATLAB9"�

(+� &���i��� Command Window�� ,
�3� ������1���� �/ �?�%���� �"��� >��	, }� &���i

��� @�l�-I p7(Script)���/%��� >����%���� ��כ>�'�. MATLAB��/0 8����%���� ���/%��� =�

�&� M-file>�T��	 !"v7�� ���/%�
 ������J���� .m���� y-������'�. >�
���� M-file�	� @�l�
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‘end’/�� 8�>� /������
 ��������� ����6���'�. 2��
��>� ‘1’��� ���(������ ‘2��
��:’��� +�,:;<��;<

���"�%�'�.

for ��������=������
:(��	���:)���
	��


������

end

[����] for ∼ end � !"# ���

for x=0:0.5:1

a=2^x

end

for k=5:-2:1

b=k

end

[� !"# ��� 
��������$
]

a = 1

a = 1.4142

a = 2

b = 5

b = 3

b = 1

1.4 if ∼ else ∼ end ���

19
� $�m� �<JN��� |�T� ������ '�B	� ��������� �	
��6%��	J� �
' hi, ‘if ∼ else ∼ end’/�����

8�������'�. a�5� =�)���K�
 %���� 1>� 9=>>�-�� ������ 1>� ����6t,�	, %���� 1>� P<}� ��

,L�>�-��, ‘if’ /����� ���C ���� ������ 2$� ����6���'�.
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a=1;

while a<4

a=a+1

end

[� !"# ��� 
��������$
]

a = 2

a = 3

a = 4

1.6 linspace ���

‘linspace’��� a�� b8�>��
 ����?�>� ����/%��� n�Y�
 ���
����� $�@��� 	��,-��� !��S���� _̂ 8�

������'�. '���(�� $�1>� >����%��� >��� �
��� �fgL��� ���BC=�J�.

linspace(a,b,n)

linspace(&�������,
�����,����� ��	��)

[����] linspace ��� � !"# ���

x = linspace(0,5,6)

y = linspace(-1,1,5)

[� !"# ��� 
��������$
]

x = 0 1 2 3 4 5

y = -1 -0.5 0 0.5 1
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A = Inf*20000000000

B = Inf/10000000000

C = Inf - Inf

D = Inf / Inf

[� !"# ��� 
��������$
]

A = Inf

B = Inf

C = NaN

D = NaN

• pi : π, ���X"O��

[����] π ��� � !"# ���

A = pi

B = sin(pi)

C = cos(pi)

[� !"# ��� 
��������$
]

A = 3.1416

B = 1.2246e-016

C = -1

1.8 MATLAB � !"# '����� ! () �
��	�
� ��


• ��.�� ����

inline��� >����%�-�� ���<<�%��M ��.����� ����
�
' �� �
�'�.
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ans = 2 5

• ���/% �/ A���?�

fp = fopen(’test.m’,’w’); %test.m��� �������� ������	���� 
�	
�	

fprintf(fp, ’%d %d\n’, 1, 2); %������� 1 2 ����

fprintf(fp, ’%f %f\n’, 3.5, 4.5); %������� 3.5 4.5 ����

fclose(fp); %����� close

• ���/% P��
�U<)�
loadT���� ��.���� ���/%�� �
���� _̂>�,-��� $��C�	� �� �
�'�. ���, ���/%�� /��J�$�

!�"1��
���-�� ������'�.

a = load(’test.m’)

[� !"# ��� 
��������$
]

a = 1.0000 2.0000

3.5000 4.5000

�� 2 ��� MATLAB*+!" # '�� # ����

2.1 MATLAB��� ����	,��- # '�� ��� # ���� ���
� ����� ��������

'���(�	� MATLAB��� >����%�19 345�67��� 34��)� "#��� $���� )���������� ������1�>�'�.

• clf

1-2�̀ figure 9"��� �	
��6��� P<'�� 34#2G gL��.
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+AM �� P<'N� T����

b Blue . Point - Solid

g Green o Circle : Dotted

r Red x x mark -. Dashdot

c Cyan + Plus -- Dashed

m Magenta * Star (none) No line

y Yellow s Square

k Black d Diamond

w white v Triangle(down)

^ Triangle(up)

wx 1.1: plot ������1��
 �	����

�f��� !�"1�, plot(x,sin(x),’k--’,x,cos(x),’ko’)��� �	
��6%�-��, '���( �&%�����

��>�M ���'�. >���� y3+��
 ���כ�$ sin(x), cos(x)�� %���� }� �Y�
 345�67��� ��V� 
��, (+�

&���i sin(x)����/
�	�+AM��
�������, cos(x)����/
�	�+AM�������wx1-2���'� (34#2G 1.39=>�	).

0 1 2 3 4 5 6 7

−0.5
0

0.5
1

34#2G 1.3: plot/�� �	������� >������� 67��345	# �	
��6�&%��

'���(�	� !"$������� ������1�>�'�.

• title

345�67�
 gLJ� O.P)�
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34#2G 1.4: (a) �Bwx��$� default��� ���(�. (b) �Bwx��$� square��� ���(�.

t=linspace(0,2*pi,100); x=2*cos(t); y=2*sin(t);

plot(x,y)

axis square

!���/% �	
gL 8�?@"�
 l�)� ?�O��(aspect ratio)�� $�1�M %�
�-��, �������
 �Bwx3+��� �


��� units������������l�)����$��Ca~���'�. >�hi>����t,��� aspect ratio����� “equal”��

“image”$� �
�'�. ��8�� 345�67�� �
��� _̂>�,-�
 Q�
"#��m�!�� display%���� ���(�$�

“image”�� ��8�����'� (34#2G 1.5 9=>�<).

t=linspace(0,2*pi,100); x=2*cos(t); y=2*sin(t);

plot(x,y)

axis equal

t=linspace(0,2*pi,100); x=2*cos(t); y=2*sin(t);

plot(x,y)

axis image
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34#2G 1.6: r = sin 2θ cos 2θ, 0 ≤ θ ≤ 2π�
 345�67

• bar(x,y)

	��,- x�� m������� 	��,- y�
 ���GH��� 0���
 345�67�� 34/0R'�.

'���(�	� ��.�� y = e−x2
�
 345�67��� bar ������1���� >����%�19 0���
 345�67�� 34/0R

��כ>�'� (�&%����� 34#2G 1.7 9=>�<).

x = -2.9:0.2:2.9;

bar(x,exp(-x.*x),’k’)

���
� # '�� 

'���(�	� ����� 345�67��� 34��)� "#��� ������1�>�'�.

• stairs(x)

	��,- x��� ����� 345�67�� 34/0R'�.

• stairs(x,y)

	��,- x�� m������� 	��,- y�
 ���GH��� ����� 345�67�� 34����� _̂, x�
 ���GH��� U<

%�(2�Q��>��	, �/%������ ����?���� $��Ca~ ���'�.
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34#2G 1.8: y = sinx�
 ����� 345�67

x = [1 3 0.5 2.5 2];

pie(x)

2.3 3����� # '�� 

2.3.1 Line # '�� 

'���(�	� 32�����
 345�67��� 34����� ������1�>�'�.

• plot3(x,y,z)

f = x(t)i + y(t)j + z(t)k�
 345�67��� 34/0R'�.

'���(QRS���� plot3������1����>����%�19 t$� [0, 10]��/0 f = cos 3ti+sin 3tj+t2k�


345�67��� 34/0R ��כ>�'�.
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34#2G 1.10: f = cos 3ti + sin 3tj + t2k�
 345�67

[X,Y] = meshgrid(-2:0.1:2, -2:0.1:2);

Z = X.*exp(-X.^2 -Y.^2); mesh(Z)

Mesh��� >����%�19 ��.���
 345�67��� 34-I8 hi����� ��.���
 _̂>�,- l�)��� X"�
%�

19a~ ���'�. a�5���� ��.�� z = xe−x2−y2
��� x��� [−2, 2], y��� [−1, 1] Q�
"# �����/0 34��

��� MATLAB QRS�>�'�.

x=linspace(-2,2,41); y=linspace(-1,1,21); [xx,yy]=meshgrid(x,y);

for i=1:41

for j=1:21

z(i,j)=x(i)*exp(-x(i)^2-y(j)^2);

end

end

mesh(xx,yy,z)

>� MATLAB QRS���� �	
��6�
' ���(� '���(�� $�1�	� U<NW$� +�,J��'�.

Data dimensions must agree. Error in ==> mesh(xx,yy,z)



gL 2 3�% MATLAB���� 345�67 34��)� 41

Mesh�� 34/0R 345�67�� contour�
 ������� X"�	 �	F��� hi meshc ������1���� >����

��� ���'�. a�5� QRS���� "#�
 �fgL��� meshc��� >����%�19 34/0R ��כ>�'�.

[x, y] = meshgrid(-2:0.1:2, -2:0.1:2);

z = x.*exp(-x.^2 -y.^2); meshc(x,y,z);

−2
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2
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0
1

2
−0.5

0

0.5

34#2G 1.12: meshc��� >������� z = xe−x2−y2
�
 345�67

2.3.3 Contour # '�� 

Contour��� ���כ�$��.�� :�R>��� ��V� 
��� ����	����
 ������� ��V� 
��� 345�67>�'�. 2S�

NW�� |�T� 22���� O<��� 32���� 345�67�� 34-I8 �� �
�'�. '���(�	� z = f(x, y)�
 22����

contour 345�67��� 34����� ������1�>�'�.

• contour(z)

��6� 8 z�� �
��� ���כ�$ :�R>��� %���� 22���� contour 345�67��� 34/0R'�.

• contour(z,n)

22���� contour 345�67��/0 ����	����
 ����� n��� 345�67�� ��V�12@'�.
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34#2G 1.14: 3D Contour 345�67

2.3.4 # '�.�"��/+(Gradient)0� #$%1����(Vector Field)

>�&������� z = f(x, y)�
 
��8� 345������p7(Gradient)��� ��%��	 >���� >����%�19 	��,-

������34
�=�����"��� �����"6=�;<%&�%�J�. >��"��� �	�A�
���"�����
��

��8��"��� >�T%�

����� Direction Field��� 34-I8 hi (:���%��M ]����'�. '���(�	� 345������p7�� 	��,-������

34����� ������1�>�'�.

• [px,py]=gradient(z,dx,dy)

345������p7 ��%�)� px = dz/dx, py = dz/dy

• quiver(x,y,u,v)

��
 (x, y)��/0 (u, v) ���
����� $�@��� 	��,-������ 34����� ������1�

'���(�	� ��.�� z = xe−x2−y2
��� x�� y$� ������ [−2, 2]�
 Q�
"# ��/0 ����	����� 	��,-

����
 345�67��� 34/0R ��כ>�'�.

[x, y] = meshgrid(-2:0.2:2); z = x.*exp(-x.^2 -y.^2);

[px,py] = gradient(z,0.2,0.2); contour(x,y,z)

hold on; quiver(x,y,px,py)
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34#2G 1.16: x = 3 sin t, y = 3 cos t�
 345�67

t = linspace(0,2*pi); x = sin(t); y = cos(t); z = t;

plot3(x,y,z,’k-’); grid on;

xlabel(’x’), ylabel(’y’), zlabel(’z’)

>�gL &����$� ��� �Y$� a�3�� }� �Y�/% ���(��
 345�67��� 34
�=�J�. '���(�	� a�5�

���Y &���� �"�����
���� s�� t$� ������ [−2, 2] Q�
"# �����/0 345�67��� 34/0R ��כ>�'�.

x = s, y = t, z = t2/2 − s2/3

s = linspace(-2,2,30); t = linspace(-2,2,30);

[ss tt] = meshgrid(s,t);

x = ss; y = tt; z = tt.^2/2 - ss.^2/3; mesh(x,y,z)

>�T�

>� (0.5, 0.5, 0.5)>��	 4*�m�%�(>� 0.25��� ���
 345�67��� 34
�=�J�.
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patch��� U�8m���
 �Bwx��� �/ �?�%��	 U�8m���
���� >�N"1���� -���
 ���=���� �/ �?���/0

;<������34�����������1�>�'�. x, y, z�Bwx��� patch�������&��
��%�)�"#�� isosurface���

8�������'�.

>> p=patch(isosurface(x����,y����,z ����,f����� , ���!�
!"��))

>���� ‘)�,��V@FJ�’�� $�1�	� ���כ�$ $�@��� ‘f_̂>�,-’�
 345�67��� 34
�,��'�. �f��� !�"1�

f(1, 1, 1) = 1, f(1, 2, 1) = 1, f(1, 3, 1) = 1T���� _̂>�,-$� �
��	 )�,��V@FJ���� 1��

C�D���'�-�� (1, 1, 1), (1, 2, 1), (1, 3, 1)��� ����&%��X"��� ;<������ 34
�,��'�.

set ������1���� >����%�-�� -���� U�8m���
�
 +AME����� ����
�
' �� �
�'�.

>> set(p,’FaceColor’,’red’,’EdgeColor’,’none’);

>> daspect([1 1 1])

'���(�	� ���'�F��� X"��� ������1�>�'�.

>> camlight; lighting phong;

'���(�	� ‘isosurface’�� ‘patch’��� >����%�19 �
��������� 32���� ��� ����� 34/0R ��כ>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% show_isosur.m %%%%%%%%%%%%%%%%%%%%

clear; n=64; x=linspace(0,1,n); y=x; z=x;

[xx,yy,zz]=meshgrid(x,y,z);

for k=1:n

for j=1:n

for i=1:n

S(i,j,k)=0.5*(1.0+tanh(0.25-sqrt((x(i)-0.5)^2+(y(j)-0.5)^2+...

(z(k)-0.5)^2)));

end

end

end

p=patch(isosurface(xx,yy,zz,S,0.5));



2���

Taylor�����

>� �����/0��� ��������������/0 $���� ���>� 8����t,��� �����!�" >�T %������ Taylor ��������

GH�Y���'�. Taylor �������� ?������� �"�����
���� �������"�����
����� 678GH������� 
��8�%��	

A�
���� �
��� (:���2�
���� ��� (:;<�
' hi 8�������'�.

����� (1&���� ��.���
 Taylor �����) ��.�� f(x)$� ����� [a, b]��/0 (n + 1)&��

A�
��$�K��%��	 c$� ����� [a, b]�
 �

�
�
 ��
>�T� %�-��, P<'�� x ∈ [a, b]�� �
%�19

'���( �
���� !��2S�%���� ξ$� x�� c8�>��� W���̀���'�.

f(x) = f(c) + f ′(c)(x − c) +
f ′′(c)

2!
(x − c)2 + · · ·

+
f (n)(c)

n!
(x − c)n +

f (n+1)(ξ)
(n + 1)!

(x − c)n+1

(2�����) Taylor�������� 2�����%�)� "#��/0��� '���( ������
 A����
�������/0�
 )�������

��� �������/0 .������a~ ���'�.

f(x0 + h) = f(x0) +
∫ x0+h

x0

f ′(τ) dτ

49
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34#2G 2.1: �/%2��
��� >�2��
��
 ?���

����� (2&���� ��.���
 Taylor �����) ��.�� f(x, y)$� ��
 P (x0, y0)�
 ��� 
���"�

N(P )��/0 ���.E ��� n�� <<�;<��.����� $�4/% hi, 
���"� N(P )�� .E %���� ��
 Q(x0 +

h, y0 + k)�� �
��/0 a�5��
�>� ���-I ���'�.

f(x0 + h, y0 + k) = f(x0, y0) +
(

h
∂

∂x
+ k

∂

∂y

)
f(x0, y0)

+
1
2!

(
h

∂

∂x
+ k

∂

∂y

)2

f(x0, y0) + · · ·

+
1

(n − 1)!

(
h

∂

∂x
+ k

∂

∂y

)n−1

f(x0, y0)

+
1
n!

(
h

∂

∂x
+ k

∂

∂y

)n

f(x0 + θh, y0 + θk), 0 < θ < 1

(2�����) f(x0 + h, y0 + k)��� ��3�
 k = 2��� 1&���� ��.���
 Taylor ������� �
�/ ���
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mesh(xx,yy,exp(xx+yy)+1)

hold on

mesh(xx,yy,2+xx+yy)

for i=1:20

for j=1:20

T(i,j)=2+x(i)+y(j)+0.5*(x(i)^2+2*x(i)*y(j)+y(j)^2);

end

end

mesh(xx,yy,T)

Taylor_two.m��� �	
��6%�-�� 34#2G 2.2�� $�1�	� �&%����� ��>��� �� �
�'�.
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34#2G 2.2: �/%2��
��� >�2��
��
 ?���

����� (3&���� ��.���
 Taylor �����) ��.�� f(x, y, z)$� ��
 P (x0, y0, z0)�


��� 
���"� N(P )��/0 ���.E ��� n�� <<�;<��.����� $�4/% hi, 
���"� N(P )�� .E %���� ��
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>�����

f(x0 + h, y0 + k, z0 + l) = f(x0, y0, z0) +
(

h
∂

∂x
+ k

∂

∂y
+ l

∂

∂z

)
f(x0, y0, z0)

+
1
2

(
h

∂

∂x
+ k

∂

∂y
+ l

∂

∂z

)2

f(x0, y0, z0)

+
n∑ 1

n!

(
h

∂

∂x
+ k

∂

∂y
+ l

∂

∂z

)n

f(x0, y0, z0)

$� ���'�. �



3���

=������ 

P�����.E ������� X"1���� J��� {(xi, yi)|i = 1, 2, . . . , n}�� �
%�19

pn(x1) = y1, pn(x2) = y2, · · · , pn(xn) = yn

��� !��2S�%���� n2� '��"��
� pn(x)��� ��%���� �"��� >� =������ >�'�. >�S�P�M ����� '��"��
�

pn(x)��� =���� '��"��
�(interpolation polynomial)>�T� %���, ��
 x1, x2, . . . , xn��� d���

��
(node point)>�T� !"B	�'�. =���� '��"��
� pn(x)��� 8����%�19 x1�� xn 8�>� O<��� 34

����� -9G�
 x�� �
��� ���כ�$ ���
' �� �
�'�.

�� 1 ��� &	�'�( 2"�
���
(Linear Interpolation)

$���� ��������� =������ �	� ��
!�"��� ,
�������� ����&%%���� ������ =������ >�'�. }� �Y�
 ��


(x0, y0)�� (x1, y1)>� �
�'��	 %�-�� >� X@"��� �L���� ,
�����	� '���(�� $�1'� (34#2G 3.1).

P1(x) = y0 +
y1 − y0

x1 − x0
(x − x0) =

x − x1

x0 − x1
y0 +

x − x0

x1 − x0
y1

lininterp.m�	� ������ =������ ��� ��������� MATLAB QRS�>�'�. X"1���� 9�Y�
 ��


!�"��!",- ������ =������� ��/0 ��� �������� 'N� UYZ �������
��� �+��.%���� 10�Y�
 ��
��/0 כ�$

��� ����� qr�� plot���� 34/0R ��כ>�'�.

57
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34#2G 3.2: ������ =������ 

���  �F2� @�[��T���� =������ >�T� !"B	�'�. �/%4*�������� �	2��
 @�[��T���� �"��� �	� � %��

�����
>� $�T'�.

����� ( �F2� @�[��T���� ��.��) a = t1 < t2 < · · · < tn = b��� n�Y�
 ��


{(ti, yi)|i = 1, 2, . . . , n}�� �
%�19 '���( �<JN���� !��2S�%���� '��"��
� S(x)$� (:�/%%�

�M W���̀���'�.

(1) S(ti) = yi, i = 1, 2, . . . , n

(2) S(x)��� GH����� ti ≤ x ≤ ti+1, i = 1, 2, . . . , n − 1��/0  �F2� '��"��
�>�'�.

(3) S(x), S′(x), S′′(x)��� ����� a ≤ x ≤ b��/0 ���.E >�'�.

(4) S′′(t1) = S′′(tn) = 0

"# ������
 '��"��
� S(x)��� J����  �F2� @�[��T���� ��.��(natural cubic spline func-
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>����� ci = (yi+1 − yi)/hi�� :�\��-��

S′
i(ti) = −hi

2
zi +

(
yi+1

hi
− hi

6
zi+1

)
−
(

yi

hi
− hi

6
zi

)
= −hi

6
zi+1 − hi

3
zi + ci

S′
i−1(ti) =

hi−1

3
zi +

hi−1

6
zi−1 + ci−1

>��	 S′
i(ti) = S′

i−1(ti)>����� i = 2, . . . , n − 1�� �
%�19

hi−1zi−1 + 2(hi−1 + hi)zi + hizi+1 = 6(ci − ci−1)

��� ��>���'�. ui = 2(hi−1 + hi), vi = 6(ci − ci−1)�� :�\��-�� '���(�� $�1�	� ���-I �"�����
�

��� ��>���'�.

⎧⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎩
z1 = 0

hi−1zi−1 + uizi + hizi+1 = vi, 2 ≤ i ≤ n − 1

zn = 0

"# �
��
 ���-I �"�����
���� ��6� 8�� wx.�%�-�� '���(�� $�1'�.⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

u2 h2 0 · · · · · · 0

h2 u3 h3 0 · · · 0

0 h3 u4
. . . · · · ...

... 0
. . . . . . . . . 0

...
...

. . . . . . un−2 hn−2

0 0 · · · 0 hn−2 un−1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

z2

z3

...

...

zn−2

zn−1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

v2

v3

...

...

vn−2

vn−1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
"#�
 ������6� 8�	�  �F>�T�
�����6� 8>�'�. natural_cubic.m�	�  �F2� @�[��T���� =������ 

��� >����%�19 d�����
 0, 0.1, 0.3, 0.35, 0.63, 0.71, 0.85, 0.96, 1��/0 ��.�� f(x) =

sin(2πx5)��� =����%���� MATLAB QRS�>�'�. natural_cubic.m��� �	
��6%�-�� 34#2G

3.3�� $�1�	� �&%����� ��>��� �� �
�'�.
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0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
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−0.5

0

0.5

1

data
sin(2π x5)
cubic spline

34#2G 3.3:  �F2� @�[��T���� =������ 

�� 3 ��� )*�&	�'�( 2"�
���


'N�������=������ (Bilinear interpolation)�	�X"�� 22����8�����������
grided)כ�$ data)���

#"]��%����_̂]����'�. )�����YUH
�	�34#2G 3.4����V����
�'�. 34#2G 3.4��$�1>� (x, y)��

P</0���
 8������� ��
�
  ���
������ ����?���� ��%�19 34 ����?��� P</0�� ��
�
 "�!כ�$

�
 ?��� ��.��(Gi,j = G(xi, yj))��� ��V�12@'�.

G(xi, yj) =
1
4

1∑
p=0,q=0

Gi+p,j+qx̄pȳq (3.2)

19)�/0 x̄p�� ȳp���

x̄p = 1 + (2p − 1)
(

2(x − xi)
h

− 1
)

ȳq = 1 + (2q − 1)
(

2(y − yi)
h

− 1
)

>�'�. "# ��.�� (3.2)��� MATLAB���� ��V� 
 =�J�.
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sumg=sumg+A(i,j)*xb*yb;

end

end

intepo=sumg/4;%% interpolation x

�� 4 ��� MATLAB 3������+����� ����	�
� 2"�
���


�	
�VG _̂>�,-$� ���� ������� P�����.E ���� X"1��W���� ���(� 34 ����X������� ���a�=�)� "#

%�19 �	
�VG _̂>�,-�
 >�T��� ���"�!כ�$ ���a� 
a~ %���� ���(�$� �
�'�. >�Y�� ���(� =�������

����6%�19 ������������ >�T����
 ���"�!כ�$ #"���%��̂� ���'�. >�
���� ���������� =������� ��

X"��� MATLAB  
�����.�� >�T %���$� interp11 ��.��>�'�.

'���(�� $�1�	� _̂>�,-��� $������ =�J�.

x = 0 1 2 3 4 5 6 7

y = 0 0.8415 0.9093 0.1411 -0.7568 -0.9589 -0.2794 0.6570

"#�
 y$כ��	� 0, 1, . . . , 7�� �
��� sin( ) ���כ�$ ��V�12@'�.

MATLAB��/0 interp1��.�����8�����
'hi'���(��$�1�	��	�������!"19�
'���
�'�.

• ‘linear’ : 12� =����

• ‘spline’ : ��
����� 32� @�[��T���� =����

• ‘pchip’ : shape-preserving ��
����� 32� =����

1��� ��כ;< �/ �?�%�m� ���'�I��� hi �	�כ�$����( ‘linear’ >�'�.

eg_linear.m�	� MATLAB  
�����.�� interp1��/0 �	�������� ‘linear’��� 8����

%�19 =����%���� MATLAB QRS�>�'�. eg_linear.m��� �	
��6%�-�� 34#2G 3.5�� $�1�	� �&%

����� ��>��� �� �
�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%% eg_linear.m %%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; x=0:1:7; y=sin(x); m=length(x);

1_̂>�,-$� 22�������� X"1��W���� ���(� interp2, 32�������� X"1��W���� ���(� interp3��� 8�������'�.
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plot(x,y,’ko’,xs,ys,’k-’); legend(’node’,’pchip’,1);
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1
node
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34#2G 3.6: interp1��/0 �	�������� ‘pchip’��� 8����%������� hi

eg_spline.m�	� MATLAB  
�����.�� interp1��/0 �	�������� ‘spline’��� 8����

%�19 =����%���� MATLAB QRS�>�'�. eg_spline.m��� �	
��6%�-�� 34#2G 3.7�� $�1�	� �&%

����� ��>��� �� �
�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%% eg_spline.m %%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; x=0:1:7; y=sin(x); m=length(x);

xleft=min(x); xright=max(x); mp=100*m;

dx=(xright-xleft)/(mp-1);

xs=xleft:dx:xright; ys=interp1(x,y,xs,’spline’);

plot(x,y,’ko’,xs,ys,’k-’); legend(’node’,’spline’,1);
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x = (1+t).*cos(t);

y = (1+t).*sin(t);

plot(x,y,’ko’)

hold on

tt = linspace(0,3.0*pi,100*Nt);

xx=interp1(t,x,tt,’spline’);

yy=interp1(t,y,tt,’spline’);

plot(xx,yy,’k-’,’linewidth’,1.5)

axis image

xlabel(’x’,’fontsize’,20,’rotation’,0)

ylabel(’y’,’fontsize’,20,’rotation’,0)

axis([-12 10.01 -7 11])

set (gca,’fontsize’,20)

print -deps ’system_spl.eps’
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34#2G 3.8: .�@���#��/0 =������ ��� 8����%�19 interp1�
 �	�������� ‘spline’��� 8������� ���

(�



4���

�"�����
��
 �������� 

J����������
$����)����������/��gL!�">�T�
%���$��"�����
��
�������%������כ>�'�. 2��,

X"1���� ��.�� f(x)�� �
%�19 �"�����
� f(x) = 0��� !��2S�%���� &�����
 ��)כ�$ O<��� 
��)

x��� ��%���� �"��� >�'�. ���� %��� 2S�NW�
 f(x)�� �
��/0��� ����M ����� ���
' �� �
�m�!��,

x3 +3x−1 = 0��$�1�	��
���"�����
�>��� x− cos x = 0��$�1�	�*+	
��"�����
��
���(���

��� ����� ��%�)�$� ���m� ���'�. >� �����/0��� >�
���� �"�����
��
 
��8������ ��%���� 19


� $�m� �"��� �� �
%�19 ���a����'�.

�� 1 ��� �������


�����������/0'�N"���19
�/��gL���
%�19�������������������������������(exact solu-

tion) O<��� ��T<כ�$<=9 !"v7�	, ������� �"��� ��� >����%�19 ����� ����� ������(numerical

solution)O<���
��8���T<כ�$�	���'�. ����� [a, b]"#��/0���.E �����.�� f(x)$���
 a, b��

/0 �<כ�$��.�� /0�� 4*��
 !"����� $�m�-�� 2��,

f(a)f(b) < 0 (4.1)

>�-�� >�T���$כ� ������� �
�� �"�����
� f(x) = 0��� !��2S�%���� x$� ����� (a, b)�� ���1�;< %�

����� W���̀���'���� 8��	
��� >����%�19 ���%���� ���;<�
 ������;<��� $�@��� ����� ��%���� �"�

�� ��� >�
���� (bisection method)>�T� ���'�. >���� z{ J�KL%��M Z�%���%�-��, >�
���� �	�

��.�� f(x)$� 'N� UYZ��
��/0 4*��
 !"����� $�@��� �������� [a1, b1]T� %��	 U<2�$� ε=�'� ���

71
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f=’x^5+3*x-1’;

n=1; a=0; b=1; c=(a+b)/2; tol=0.001;

fprintf(’ n a b c b-c \n’)

while b-c>=tol

n=n+1;

x=b; fb=eval(f);

x=c; fc=eval(f);

if fb*fc<=0

a=c; c=(a+b)/2;

else

b=c; c=(a+b)/2;

end

fprintf(’%2.0f %2.10f %2.10f %2.10f %2.4e \n’,n,a,b,c,b-c)

end

bisection.m��� �	
��6%�-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

n a b c b-c

2 0.0000000000 0.5000000000 0.2500000000 2.5000e-001

3 0.2500000000 0.5000000000 0.3750000000 1.2500e-001

4 0.2500000000 0.3750000000 0.3125000000 6.2500e-002

5 0.3125000000 0.3750000000 0.3437500000 3.1250e-002

6 0.3125000000 0.3437500000 0.3281250000 1.5625e-002

7 0.3281250000 0.3437500000 0.3359375000 7.8125e-003

8 0.3281250000 0.3359375000 0.3320312500 3.9063e-003

9 0.3281250000 0.3320312500 0.3300781250 1.9531e-003

10 0.3300781250 0.3320312500 0.3310546875 9.7656e-004
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��� ��>���'�. >� ����	��2�(>� �"�����
� f(x) = 0�
 ��������� ��%���� Newton �"��� >�'�

(34#2G 4.2 9=>�	). Newton �"��� ��� >����%�19 U<2�$� 10−10=�'� ����	� '���( �"�����
��


��������� ����=�J�.

f(x) = x5 + 3x − 1 = 0

newton.m�	� Newton �"��� ��� >����%�19 �"�����
��
 ��������� �����%���� MATLAB QR

S�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%% newton.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf;

f=’x^5+3*x-1’; df=’5*x^4+3’;

n=0; x0=0.5; tol=10^(-10); m=1;

fprintf(’ n x_n f(x_n) x_n-x_(n-1) \n’)

while m>=tol

n=n+1; x=x0; y=eval(f); dy=eval(df);

x1=x0-y/dy; m=abs(x1-x0);

x=x1; y=eval(f);

fprintf(’%2.0f %2.4e %2.4e %2.4e \n’,n,x1,y,x1-x0)

x0=x1;

end

newton.m��� �	
��6%�-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

n x_n f(x_n) x_n-x_(n-1)

1 3.3962e-001 2.3386e-002 -1.6038e-001

2 3.3200e-001 2.2278e-005 -7.6263e-003

3 3.3199e-001 1.9385e-011 -7.2785e-006

4 3.3199e-001 2.2204e-016 -6.3335e-012

�� 3 ��� Secant �����


��3 3�%��/0 ��)�� Newton �"��� �	� f(x)�
 ;<��.����� >����%�19 3� ����
 �
���� ��%��	 >�

3� ����
 �
�>� x3+��� !������� ��
��� �������� ��%���� �"��� >����'�. |�T�/0 f(x)$� ;<
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1 2.5000e-001 -2.4902e-001 -7.5000e-001

2 3.0748e-001 -7.4799e-002 5.7484e-002

3 3.3216e-001 5.3412e-004 2.4679e-002

4 3.3199e-001 -1.4581e-006 -1.7498e-004

5 3.3199e-001 -3.0434e-011 4.7639e-007

�� 4 ��� 4�&	�'�( &�5 
$��� ��6�7�

'�&���� ��.���� >�N"1���� ?������� .�@���#�
 ����� ��%�)� "#��, ?������� .�@���#��� ���

���*+��� �"�����
�!�"�
 .�@���#���� 
��8�%�19 ���&%%���� �"��� ��� u:[�� �"��� �� Steepest

descent �"��� �� �
%�19 ���BC=�J�. Steepest descent �"��� �	� *+)� 
��8���$� �������
'

�$Fכ%/5 $�T������ u:[�� �"��� �
 ���3�%��� *+)� 
��8������ J9K)� "#��� �"��� ���� ���������

�� �
�'�. 32���� .�@���#��� �	
��
' ��כ>���, -��y- >� 3�%��/0 8�����
' \ H $�m� '�&����

?������� .�@���#�� 34 ���4/%!�"��� ����
%�J�. R
3 → R .�@���#>� '���(�� $�1>� X"1��C

�
�'��	 %�J�.

f1(x, y, z) = 0,

f2(x, y, z) = 0,

f3(x, y, z) = 0,

19)�/0 fi, i = 1, 2, 3�	� 	��,- p = (x, y, z)t��/0 �	
�����
 ��.���� +�,����
' �� �
�'�.

3�Y�
 ?������� �"�����
� .�@���#��� F : R
3 → R

3T���� ZY��)�� %����
 ��.���� ����
�
' ��

�
����_̂, F = (f1(p), f2(p), f3(p))t�� ����
���'�. 34���	 fi, i = 1, 2, 3��� F�
 �Bwx��.

��T� !"B	�'�. f1��� ��
 p0 = (x0, y0, z0)��/0 no�/%
� 22� �
��Y%�-��,

f1(p) = f1(p0) +
∂f1(p0)

∂x
(x − x0) +

∂f1(p0)
∂y

(y − y0) +
∂f1(p0)

∂z
(z − z0)

+
1
2

∂2f1(ξ)
∂x2

(x − x0)2 +
1
2

∂2f1(ξ)
∂y2

(y − y0)2 +
1
2

∂2f1(ξ)
∂z2

(z − z0)2

+
∂2f1(ξ)
∂x∂y

(x − x0)(y − y0) +
∂2f1(ξ)
∂y∂z

(y − y0)(z − z0) +
∂2f1(ξ)
∂z∂x

(z − z0)(x − x0),

19)�/0 ξ = (ξ1, ξ2, ξ3) = p0 + t(p − p0), 0 ≤ t ≤ 1 >�'�. >��� $�1�	� �"��� ���� f2��
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����

'���(�
 X"1���� ���-I �"�����
���� u:[�� �"��� ���� x, y, z�
 
��8������

����=�J�. *+)� �<JN��	� x0 = 0.5, y0 = 0.5, z0 = 0.5���� $�������'�.

x2 − sin(y) + 0.5 cos(z) = 0.5,

3x − cos(y) + sin(z) = 0,

x2 + y2 + z2 = 0.95.

"# /��gL�
 MATLAB QRS���� newtonsys.m�� '���(�� $�1'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% newtonsys.m %%%%%%%%%%%%%%%%%%%%%%

clear; clc; x=[0.5; 0.5; 0.5]; count=0;

err=max(abs(f_func(x))); tol=1e-10;

fprintf(’--------------------\n’);

fprintf(’count absolute\n’);

fprintf(’--------------------\n’);

while err>tol

count=count+1;

x1=x-inv(j_func(x))*f_func(x);

x=x1;

err(count)=max(abs(f_func(x)));

fprintf(’%d %f \n’,count, max(abs(f_func(x))))

end

fprintf(’--------------------\n’);

function F=f_func(x)

f1=inline(’x(1)^2-sin(x(2))+0.5*cos(x(3))-0.5’,’x’);
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���?
���'�. |�T�/0, >� �"��� ��� 8����%�19 A�T
��D� 
��8���� *+)������ ����� qr u:[�� �"�

�� ��� >�����
' ��;< �
�'�. 34���	 ?������� .�@���#�
 ����� ���
' hi *+)������ ���%����

/��gL�� 8�������'�.

Steepest descent �"��� �� �
�� ����������� ���BC=�-��, 345������p7��� >����%����

�"��� ���� 19)�/0��� '�&���� ��.���
 678GH s).EF$כ���� �&%���%���� ��כ�� >�����
' ��כ>�'�.

-��y- 22�����
 ��.����� �	
��� =�J�. ���.E ��.�� f(x, y)�� �
�� �"��X�;<��.���
 s)A'�כ�$

�	� 345������p7 ∇ �"��X�>�����, s)�
 ��FGH �"��X��	� −∇f(x, y)T� �
' �� �
�'�.

Steepest descent �"��� ��� >����%�19 ����� J9K��� hi, 345������p7��� �"� �� �

�
�
 ��
��

/0��,
�>�t,���� _8.EF$כ����J9K)�"#��345������p7�����8�����?�ef �������G�H%�19�"�

�X���� �&%���%���� �"��� ��� 8�������'�. >�hi  ���� �<כ�$ ���� l�-�� -9.����
' ��;< �
��	, ��

�� �����-�� ���?
>� K�̀1�m��M ���'�. |�T�/0 ���3�%���  ������� �&%���%��	, >���� >��19X"

��� �"��X����� ���?
��� �����'�. }� �Y�
 ����� $�m���� ���-I �"�����
�

f1(x, y) = 0, f2(x, y) = 0

�
 ����� ��%���� /��gL��� +�,����� =�J�. s)GH��.�� g$� g(x, y) = Σ2
i=1[fi(x, y)]2T� �
'

hi s)�
 ��FGH �"��X��	� −∇g(x, y)>��	, ���-I �"�����
�>����� J�QR?���� ��6� 8��� >����%�

19 ��������'�. '���(���� ��FGH �"��X��
 ?�ef  ������� αT� %�-��, α!��!�M ���3�%D� >����%�

19ZY��כ�$��( x(1), 2�� x(1) = x(0)−α∇(x(0))���J9K������
�'�. >�hi, ∇�"��X��	�l�
)���� 1�� !��'��'�. '���(���� ���3�%��� α ���כ�$ ���8��D� #"���%��	, *+)� α$כ���� 0�� 1��

�	B	� qr, *+)��� $������� x(0)��� �
�/ ��� g ��כ�$��.�� x(1)��� �
�/ ��� ZY��)�� g כ�$��.��

�
 2�>���� ?���%�19 α��� 4*�6
� >��19$���� .���6��� 4*�a&����'�. Steepest descent �"��� 

��� >����%�19 ���-I �"�����
���� ���&%%���� ��������� �fgL��� b��1�=�J�.

����

'���(�
 X"1���� ���-I �"�����
���� Steepest descent �"��� ��� >����%�19 x, y�



��8������ ����=�J�. *+)� �<JN��	� x0 = 0, y0 = 0���� $����%�J�.

3x − y = 4, x + y = 2.

"# /��gL�
 MATLAB QRS���� steep2.m�� '���(�� $�1'�.
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alpha=alpha1;

else

alpha=alpha2;

end

x=x-alpha*z’;

gg = max(abs(g1),abs(g2));

resid=abs(g-gg);

fprintf(’ %2d %f %f %f %f \n’,k, resid,alpha,

x(1),x(2));

if (resid<tol)

break;

end

k=k+1;

end

fprintf(’---------------------------------------------------\n’);

>���� �	
��6�� =�-�� '���(�
 �&%����� ��>��� �� �
��	, ���� $���>� $���� ��כ��� �������
'

�� �
�'�.

---------------------------------------------------

count resid alpha x y

---------------------------------------------------

1 17.884271 1.000000 0.989949 -0.141421

2 1.404620 0.500000 1.488770 -0.107091

3 0.331470 0.250000 1.319048 0.076469

4 0.115706 0.250000 1.542289 0.189000

5 0.046569 0.250000 1.335194 0.329043

6 0.030499 0.250000 1.585183 0.331397

7 0.008219 0.250000 1.355256 0.429548

8 0.010794 0.250000 1.603655 0.401299

9 0.162039 0.125000 1.484880 0.440255
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����

'���(�
 X"1���� ���-I �"�����
���� Steepest descent �"��� ��� >����%�19

x, y, z�
 
��8������ ����=�J�. *+)� �<JN��	� x0 = 0.5, y0 = 0.5, z0 =

0.5���� $����%�J�.

x2 − sin(y) + 0.5 cos(z) = 0.5,

3x − cos(y) + sin(z) = 0,

x2 + y2 + z2 = 0.95.

"# /��gL�
 MATLAB QRS���� steep3.m�� '���(�� $�1'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%% steep3.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%

clc; clear;

f1=inline(’x(1)^2-sin(x(2))+0.5*cos(x(3))-0.5’,’x’);

f2=inline(’3*x(1)-cos(x(2))+sin(x(3))’, ’x’);

f3=inline(’x(1)^2+x(2)^2+x(3)^2-0.95’,’x’);

x=[0.5 0.5 0.5]; tol=1.0e-10; N=100; k=1;

fprintf(’---------------------------------------------\n’);

fprintf(’count resid x y z \n’);

fprintf(’---------------------------------------------\n’);

while (k<=N)

g1=g_func(x);

z=2*j_func(x)’*f_func(x);

z0=sqrt(z(1)^2+z(2)^2+z(3)^2);

if(z0==0)

break;

end

z=z/z0;
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function F=f_func(x)

f1=inline(’x(1)^2-sin(x(2))+0.5*cos(x(3))-0.5’,’x’);

f2=inline(’3*x(1)-cos(x(2))+sin(x(3))’, ’x’);

f3=inline(’x(1)^2+x(2)^2+x(3)^2-0.95’,’x’);

F=[f1(x);f2(x);f3(x)];

function g=g_func(x)

f1=inline(’x(1)^2-sin(x(2))+0.5*cos(x(3))-0.5’,’x’);

f2=inline(’3*x(1)-cos(x(2))+sin(x(3))’, ’x’);

f3=inline(’x(1)^2+x(2)^2+x(3)^2-0.95’,’x’);

g=f1(x)^2+f2(x)^2+f3(x)^2;

function J=j_func(x)

J = [2*x(1) -cos(x(2)) -0.5*sin(x(3));

3 sin(x(2)) cos(x(3));

2*x(1) 2*x(2) 2*x(3)];

>���� �	
��6�� =�-�� '���(�
 �&%����� ��>��� �� �
��	, ���� $���>� $���� ��כ��� �������
'

�� �
�'�.

---------------------------------------------

count resid x y z

---------------------------------------------

1 0.830694 0.264953 0.451293 0.430141

2 0.030622 0.203444 0.442816 0.437284

3 0.045506 0.202415 0.449717 0.562089

4 0.032611 0.147967 0.423752 0.578446

5 0.088482 0.168043 0.333255 0.810626

6 0.079948 0.064246 0.265928 0.792788



5���

������� A�
��

��.�� f(x)�
 ��
 x��/0�
 A�
���כ�$�� ����������� �����%�)� "#��/0 f(x)�
 ;<��.���


����


f ′(x) = lim
h→0

f(x + h) − f(x)
h

(5.1)

��� +�,���%�J�. ,
�"��������� ����	� h�� �
%�19

f ′(x) ≈ f(x + h) − f(x)
h

:= Dhf(x) (5.2)

T��	 ������� A�
�� Dhf(x)��� ����
%�19 8�����
' �� �
�'�. >� �
��	� ��(� �����%�m�!��

������� A�
��כ�$�� �	
gL A�
כ�$�� 8�>��� 5/%���������� U<2�$� +�,E	
 �� -9G�� $�T'�. >�

gL!",- ����� l�)� h�� �
��� f(x)�
 ������� A�
�� Dhf(x)�� �
��/0 ���a�=�;<%&� %�

J�. -��y- no�/%
� �������� 8������/0 U<2� ����
���� J9K��� �� �
�'�. ��.�� f(x)$� }� &��

A�
��$�K�������.��T��	$����%��	 x���)�,������ f(x+h)��/0no�/%
��YH������
��Y%�

-��, x�� x + h8�>���/0 1�CI� �� ξ$� W���̀%�19

f(x + h) = f(x) + hf ′(x) +
h2

2
f ′′(ξ)

��� ��>���'�. >� �
���� �����%�-��

f ′(x) =
f(x + h) − f(x)

h
− h

2
f ′′(ξ) = Dhf(x) − h

2
f ′′(ξ) (5.3)

89
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•

x

f ′(x) •

x + h

f(x + h) − f(x)
h

34#2G 5.1:

34���	 �
� (5.5)��/0 (5.6)��� ��-��,

f(x + h) − f(x − h) = 2hf ′(x) +
h3

3
f (3)(x) + O(h4) (5.7)

��� ���
' �� �
�'�. >� �
���� �����%�-��

f ′(x) =
f(x + h) − f(x − h)

2h
− h2

6
f (3)(ξ) (5.8)

�����>���'�. 19)�/0 ξ��� x−h�� x+h8�>��
1�CI���>�'�. >�gL�������A�
�����a�

5��� $�1>� ����
�
' �� �
�'�.

Dhf(x) :=
f(x + h) − f(x − h)

2h

>��� $�1�	� ������� A�
����� >�T'��2�
���� (central difference method)>�T��	 ���'�. O<

��� 3�%���U<2���� ∣∣f ′(x) − Dhf(x)
∣∣ =

∣∣∣∣h2

6
f (3)(ξ)

∣∣∣∣
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��� !��2S�.���)� "#%�19 ���Fכ%/5 �<JN��	�

A + B + C = 0

h(2A + B) = 1
h2

2
(4A + B) = 0

>�'�. >� ���-I �"�����
��
 �����

A = − 1
2h

,B =
2
h

, C = − 3
2h

��� $�@���'�. >� A, B, C��� �
� (5.9)�� �
�/ %�-�� ����
�

Dhf(x) =
−f(x + 2h) + 4f(x + h) − 3f(x)

2h
(5.11)

>� #��������'�. �
� (5.10)��� >����%�19 3�%���U<2���� '���(�� $�1>� ��>��� �� �
�'�.

∣∣f ′(x) − Dhf(x)
∣∣ =

∣∣∣∣h2

3
f (3)(ξ)

∣∣∣∣
19)�/0 ξ��� x�� x + 2h 8�>��
 1�CI� ��>�'�. >� �
��	� 12� ;<��.�� f ′(x)�� �
��� 3��


�
��"�2�
���� >�T� ���'�. 34���	 22��
 ������;<��� $�@���'�. �
� (5.11)��/0 h��� −h��

 �¡�-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

Dhf(x) =
3f(x) − 4f(x − h) + f(x − 2h)

2h

>� ����
���� 3��
 qr�"�2�
���� >�T��	 ���'�. O<��� 3�%���U<2�$�∣∣f ′(x) − Dhf(x)
∣∣ =

∣∣∣∣h2

3
f (3)(ξ)

∣∣∣∣
�

��� ��� �� �
�'�. 19)�/0 ξ��� x − 2h�� x8�>��
 1�CI� ��>�'�. 3��
 �
��"�2�
���� ��

qr�"�2�
���� �	� >�T'��2�
���� �� $�1�	� 2����
 ������;<��� $�@���'�. %�m�!�� X"1���� �����

[a, b]>� �
�'��	 %�-�� #��cS� UYZ 
���"� x = a��/0 >�T'��2�
���� ��� ���
' �� $�T��� ���(�$�

+�,E	
 hi, ����� -9G�
 ��.�� f(x)�
 ���=���� ��Fכ%/5 %�m� ������ �
��"�2�
���� �	� $�1�	� ������

;<��/0�
 A�
���כ�$�� ����������� �����%���� _̂ (:���%�'�.



6���

������� ���
��

>� �����/0��� ��.�� f(x)�
 ���
���כ�$�� �����%�)� "#%�19 f(x)�
 
��8���.����� >����%����

�"��� �� �
%�19 ���a����'�. ������ =���� '��"��
���� 
��8���.���� 8����%�19 ������� ���
��

���כ�$ ��%���� 8�'���d$e ���
���"��� �� >�2� =���� '��"��
���� >������� Simpson ���
���"��� 

�� �
%�19 ���a����'�.

�� 1 ��� 8�9������ ��	��������


������
���
 
��8����כ�$ ��%�)� "#��� $���� ��������� �"��� >�T�
 %������ ������ =���� '��"��
�

��� 8����%���� ��כ���_̂ >� �"��� ��� 8�'���d$e �"��� (trapezoidal rule)>�T��	 ���'�. 8�'�

��d$e �"��� �	� ¢����
�� ��.�� f(x) �
����� ������ =���� '��"��
� p1(x)��� 8����%�19 ����� ���

���
�� ���כ�$ 8����%���� �"��� >�'�. }� ��
 (a, f(a))�� (b, f(b))��� m������ ������ =���� '�

�"��
� p1(x)���

p1(x) =
(b − x)f(a) + (x − a)f(b)

b − a

>��	, >� ������ =���� '��"��
� p1(x)��� ����� [a, b]��/0 ���
��%�-�� '���(�� $�1'�.∫ b

a
p1(x) dx = (b − a)

(
f(a) + f(b)

2

)
|�T�/0 8�'���d$e ����
��	� '���(�� $�1'�.∫ b

a
f(x) dx

.= T1(f) ≡ (b − a)
(

f(a) + f(b)
2

)
(6.1)

95
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%%%%%%%%%%%%%%%%%%%%%%%%%% trape.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; a=0; b=1; % end points of interval

f=inline(’exp(x)’,’x’);

n=[1 2 4 8 16 32 64 128 256 512 1024 2048];

% number of subintervals

error0=0;

fprintf(’ n numerical sum error ratio \n’)

for iter=1:length(n)

h=(b-a)/n(iter);

T=0;

for i=1:n(iter)

T=T+f(a+(i-1)*h)+f(a+(i)*h);

end

T=(h/2)*T;

error=abs(exp(1)-1-T);

ratio=error0/error;

if iter==1

fprintf(’%4.0f %16.14f %5.4e \n’,n(iter),T,error)

else

fprintf(’%4.0f %16.14f %5.4e %5.2f \n’,n(iter), ...

T,error,log(ratio)/log(2))

end

error0=error;

end

trape.m����	
��6%�-��'���(��$�1�	��&%�������>������
�'�. ������
�Y�����}�����2��

$�%��� 22��
 ���?
������ ������%����'�.

n numerical sum error ratio

1 1.85914091422952 1.4086e-001

2 1.75393109246483 3.5649e-002 1.98



gL 2 3�% SIMPSON ���
���"��� 99

��
��� x0(= a), x1, . . . , xn−1, xn(= b)>�T� %�J�. ����� [a, b]��/0 ���
�	�כ�$�� ��� GH�����

[xi, xi+2]��/0 ���

�כ�$�� �
!>�����∫ b

a
f(x) dx =

∫ xn

x0

f(x) dx

=
∫ x2

x0

f(x) dx +
∫ x4

x2

f(x) dx + · · · +
∫ xn

xn−2

f(x) dx

>�'�. ��� GH����� [xi, xi+2]�� Simpson ����
� (6.3)��� ������%�-�� '���(�� $�1'�.

h

3
[f(x0) + 4f(x1) + f(x2)] +

h

3
[f(x2) + 4f(x3) + f(x4)]

+ · · · + h

3
[f(xn−2) + 4f(xn−1) + f(xn)]

|�T�/0 yi = f(xi), 0 ≤ i ≤ nT� :�\��-�� '���( Simpson ����
���� ��>���'�.

Sn(f) ≡ h

3
(y0 + 4y1 + 2y2 + 4y3 + 2y4 + · · · + 2yn−2 + 4yn−1 + yn)

=
n/2∑
i=1

h

3
(y2i−2 + 4y2i−1 + y2i)

Simpson ���
���"��� ��� >����%�19 '���( ������
���
 ���� ���
���כ�$�� ����=�J�.

I =
∫ 1

0
ex dx = e − 1.

simpson.m�	� Simpson ���
���"��� ��� >����%�19 ������
���
 ���� ���
���כ�$�� �����%����

MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%% simpson.m %%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; a=0; b=1; % end points of interval

f=inline(’exp(x)’,’x’);

n=[2 4 8 16 32 64 128 256 512];

% number of subintervals

error0=0;

fprintf(’ n numerical sum error ratio \n’)
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�� 3 ��� �������	��� (Improper integration)

���
���
 �����(upper limit)f%g�	�%����(lower limit)��/0���>���
(singularity)>�W���̀%�

��� ���(�, no�/%
� �YH����� 8����%�19 ���>����
��(improper integration)�
 
��8������ ��>

��� �� �
�'�. Burden �� Faires�
 numerical analysis 0	��� ��U<��� �fgL��� �	
��� =�

J�. '���( ��.����� ���BC=�J� (34#2G 6.1 9=>�	).

∫ b

a

1
(x − a)p

dx (6.4)

"# ���
���	� 0 < p < 1��� ���(�, ���?
%��M ���'� (p-test>����).

∫ b

a

1
(x − a)p

dx =
[

1
1 − p

(x − a)1−p

]b

a

=
1

1 − p
(b − a)1−p

x

y

y =
1

(x − a)p

∫ b

a

1
(x − a)p

dx

a b

34#2G 6.1: ��.�� y = 1/(x − a)p�
 [a, b] ������
 ���
��������

f(x) = g(x)
(x−a)pT� %��	, g(x) ∈ C5[a, b]T��	 ����
%�J�.1 >�hi g(x)�
 42� no�/%

1C5[a, b]��� ����� [a, b]��/0 5&�� A�
��$�K��%��	, 5&�� A�
����� ;<��.��$� ���.E ��� ��.����� h�F���'�.
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����

'���(�
 ���>����
���
 
��8����כ�$ ����=�J�.∫ 1

0

ex

√
x

dx (6.7)

(b��>�) -��y- "# �
�(6.7)��� no�/%
� ��.�� P4(x)��� 8����%�19 ��u�1�=�J�.∫ 1

0

ex

√
x

dx =
∫ 1

0

ex − P4(x)√
x

dx︸ ︷︷ ︸
(a)

+
∫ 1

0

P4(x)√
x

dx︸ ︷︷ ︸
(b)

(6.8)

19)�/0 P4(x)��� '���(�� $�1'�.

P4(x) = 1 + x +
x2

2
+

x3

6
+

x4

24

34���	 �
��
 ���<<�*+��� "#%�19 ��.�� G(x)��� >����%�19 '���(��� ����
%�J�.

G(x) =

⎧⎪⎪⎨⎪⎪⎩
ex − P4(x)√

x
0 < x ≤ 1

0 x = 0.

>�gL �
� (6.8)�
 ��� !"
����� �������=�;<%&� %�J�.

(a) : '���(�
 _̂>�,-��� 8����%�19 Simpson �"��� ���� ���
���כ�$�� ��%�J�.

x G(x)

0.00 0

0.25 0.0000170

0.50 0.0004013

0.75 0.0026026

1.00 0.0099485



7���

A�
���"�����
��
 �������� 

>� �����/0���  ��A�
�� �"�����
� (ordinary differential equation)�
 כ�$�(+* /��gL�� �����

כ�$ /��gL�� �
��/0 '�N"1� =�J�.

�� 1 ��� ������
 �����

>� 3�%��/0��� A�
���"�����
��
 �������� >�T ���כ�$�(+* >������� �"��� >�T Euler, �X� �����

Euler, >�T�����
 �"��� , Runge-Kutta �"��� �� �
�� ���a�=��	, >���� >����%�19 ���-I �"����

�
��
 ����� J9Ka����'�.

1.1 Euler �����


Euler �"��� �	� '���(�� $�1�	� כ�$�(+* /��gL�
 
��8����כ�$ J9K���'�.

y′ = f(t, y), y(t0) = y0.

�"�����
���� I"��� �����"��� �	� >����4/ �
!�
 d�����


t0 < t1 < · · · < tN = T (7.1)

��/0 
��8��� y(ti)��� �����%���� ��כ>�'�. ���Q�������� "#%�19 �������?� d������ 8�������'�.

tn = t0 + nh, n = 1, 2, · · · , N.

105
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for i=1:N-1

y(i+1) = y(i) + h * f(t(i),y(i));

end

exy = 53/25*exp(5*t)+2/5*t-3/25; % exact solution

plot(t,y,’ko’,t,exy,’k’);

xlabel(’t’); ylabel(’y’)

legend(’numerical solution’,’exact solution’)

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

50

100

150

200

250

300

350

t

y

numerical solution
exact solution

34#2G 7.1: Euler �"��� ��� >����%�19 ��>�	� �&%��

1.2 2�� Runge-Kutta �����
 ��	���

22� Runge-Kutta �"��� �
 ��������� 2�������� ���BC=�J�. -��y- no�/%
� �
��Y��� >����%�-��

y(ti+1) = y(ti) + hy′(ti) +
h2

2
y′′(ti) + O(h3). (7.5)

y′ = f(t, y) >����� >���� ���LM�� (2B��� 8����%�19 A�
��%��	 '�.� �
�/ %�-��

y′′(ti) = ft(ti, yi) + fy(ti, yi)y′(ti) = ft(ti, yi) + fy(ti, yi)f(ti, yi).
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h=0.05; % time step size

t0=0; T=1; t=[t0:h:T]; % time step

N=length(t);

y(1)=2; % inital value

f=inline(’1-2*ft+5*fy’,’ft’,’fy’);

for i=1:N-1

y(i+1)=y(i)+0.5*h*(f(t(i),y(i))+f(t(i+1),y(i)+h*f(t(i),y(i))));

end

exy = 53/25*exp(5*t)+2/5*t-3/25; % exact solution

plot(t,y,’ko’,t,exy,’k’);

xlabel(’t’); ylabel(’y’)

legend(’numerical solution’,’exact solution’)

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0

50

100

150

200

250

300

350

t

y

numerical solution
exact solution

34#2G 7.2: �������� Euler �"��� ��� >������� �&%��

���(� 2) A = 0 �/% hi����� B = 1, P = 1/2, Q = 1/2>��	 �
� (7.9)�� �
�/ %�19

�����%�-�� '���(�� $�1'�. y(ti+1) = y(ti) + hf(ti + 1
2h, yi + 1

2hf(ti, yi)) >� �
��	� >�T���
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plot(t,y,’ko’,t,exy,’k’);

xlabel(’t’); ylabel(’y’)

legend(’numerical solution’,’exact solution’)

1.3 Runge-Kutta �����


>� 3�%��/0��� Runge-Kutta �"��� >�T� %���� 42� Runge-Kutta (RK4) �"��� ��� ���BC=�

�	, ��������� /��gL��� b��1�=��	J� ���'�. Runge-Kutta �"��� �	� no�/%
� �"��� ��� �Y������

�"��� ���� :�R�	� 2����
 U<2� �������� 34�
�� (:m�%�-��/0 �	2��
 ;<��.����� ���
' 5/%

������Fכ $�T%7@ �"��� >�'�. �������
 i = 0, 1, · · · , N − 1 �� �
��/0

k1 = hf(ti, yi)

k2 = hf

(
ti +

h

2
, yi +

1
2
k1

)
k3 = hf

(
ti +

h

2
, yi +

1
2
k2

)
k4 = hf(ti+1, yi + k3)

yi+1 = yi +
1
6
(k1 + 2k2 + 2k3 + k4).

Runge-Kutta �"��� ��� >����%�19 �����l�)� h = 0.05�/% ���(��� ����� 0 ≤ t ≤ 1��

/0 �
� (7.5)�
 ��������� ���
 
��8����כ�$ ��%�J�. RK4.m�	� RK4 �"��� ��� >����%�19 �"�

����
��
 ��������� �����%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%% RK4.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf;

h=0.05; % time step size

t0=0; T=1; t=[t0:h:T]; % time step

N=length(t);

y(1)=2; % inital value

f=inline(’1-2*ft+5*fy’,’ft’,’fy’);

for i=1:N-1
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34#2G 7.5: Euler, �������� Euler, >�T�����
, RK4 �"��� ��� ?���

"#��� ���������� �"��� ��� Z�%������'�. ���<<������� "#��/0 '���(�� $�1�	� 2�Y�
 �/%2� A�
��

�"�����
��� *+)� �<JN���� �	
�%�J�.

x′ = f(t, x, y), y′ = g(t, x, y)

x(t0) = x0, y(t0) = y0.

��
 tn = t0+nh, n = 1, 2, · · · , N��/0�"�����
��
����������� x = φ(t)�� y = ψ(t)�



��8�כ�$ x1, x2, · · · , xN �� y1, y2, · · · , yN��� �&%���%��	J� ���'�. 	��,- ������
 כ�$�(+*

/��gL��� a�5��� $�1>� wx1-2�
' �� �
�'�.

x′ = f(t,x), x(t0) = x0 = (x0, y0).

x��� x �� y��� ���
������ %���� 	��,->��	, f��� f �� g��� ���
������ $�@��� )�O��)� 	��,->�

'�. O<��� x0��� x0 �� y0��� ���
������ %���� כ�$�(+* 	��,->�'�. 19)�/0 f��� x, y]��-��

"#��/0 �� x = (φ(t), ψ(t))�
 345�67�� 3� %���� 	��,->�'�. �f��� !�"1� Euler �"��� �	�

xn+1 = xn + hfn
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%%%%%%%%%%%%%%%%%%%%%%%%%%%% PPRK4sys.m %%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc;

% Runge-Kutta Method for the prey-predator euqation

h=0.2; % time step size

T=30.0;

t0=0.0;

t=[t0:h:T]; % time step

N=length(t)-1;

x=zeros(N+1,1);

y=zeros(N+1,1);

x(1)=2.0; % inital value

y(1)=1.0;

f=inline(’x*(1.0-0.5*y)’,’t’,’x’,’y’);

g=inline(’y*(-0.75+0.25*x)’,’t’,’x’,’y’);

for i=1:N

k11=f(t(i),x(i),y(i));

k12=g(t(i),x(i),y(i));

k21=f(t(i)+0.5*h,x(i)+0.5*h*k11,y(i)+0.5*h*k12);

k22=g(t(i)+0.5*h,x(i)+0.5*h*k11,y(i)+0.5*h*k12);

k31=f(t(i)+0.5*h,x(i)+0.5*h*k21,y(i)+0.5*h*k22);

k32=g(t(i)+0.5*h,x(i)+0.5*h*k21,y(i)+0.5*h*k22);

k41=f(t(i)+h,x(i)+h*k31,y(i)+h*k32);

k42=g(t(i)+h,x(i)+h*k31,y(i)+h*k32);

x(i+1) = x(i)+h/6*(k11+2*k21+2*k31+k41);

y(i+1) = y(i)+h/6*(k12+2*k22+2*k32+k42);

end

plot(t,x,’kd-’,t,y,’k*-’);

axis([0 30 0 8])

legend(’Prey’,’Predator’)
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=�'� ��������� ��%�)� 1��  '�. ��כ�$��� /��gL�
 ��������� ��%�)� "#��� shooting �"�

�� �
)�����	���gL��/כ�$��� (7.10)�
������<JN���"���̂����'���
�gL��/כ�$�(+*)����� ��

%���� ��כ>�'�.

y′′ = p(x)y′ + q(x)y + r(x), a ≤ x ≤ b, y(a) = α, y′(a) = 0 (7.11)

y′′ = p(x)y′ + q(x)y, a ≤ x ≤ b, y(a) = 0, y′(a) = 1 (7.12)

y1(x)�� y2(x)��� ������ �
� (7.11)�� (7.12)�
 ��T� %��	

y(x) = y1(x) +
β − y1(b)

y2(b)
y2(x)

T� %�J�. 34
�-��

y′(x) = y′1(x) +
β − y1(b)

y2(b)
y′2(x) 34���	 y′′(x) = y′′1(x) +

β − y1(b)
y2(b)

y′′2(x)

>� ���'�. |�T�/0

y′′ = p(x)y′1 + q(x)y1 + r(x) +
β − y1(b)

y2(b)
(p(x)y′2 + q(x)y2)

= p(x)
(

y′1 +
β − y1(b)

y2(b)
y′2

)
+ q(x)

(
y1 +

β − y1(b)
y2(b)

y2

)
+ r(x)

= p(x)y′(x) + q(x)y(x) + r(x).

�M'�$�,

y(a) = y1(a) +
β − y1(b)

y2(b)
y2(a) = α +

β − y1(b)
y2(b)

· 0 = α

y(b) = y1(b) +
β − y1(b)

y2(b)
y2(b) = y1(b) + β − y1(b) = β

>�'�. |�T�/0 y(x)��� ������ ��כ�$��� /��gL�
 ��$� ���'�.

������ �"�����
��� �
��� shooting �"��� �	� ������ ��כ�$��� /��gL��� }� �Y�
 כ�$�(+* /��

gL (7.11)�� (7.12)�� �
�����'�. �� y1(x)�� y2(x)�
 
��8��	�כ�$ ��3 3�%��/0 ��)�� A�
��

�"�����
��
 19
� $�m� �������� ���� ���
' �� �
�'�. Euler �"��� ��� 8����%�19 y1(x)��

y2(x)�
 
��8����כ�$ ��%��	, >� ���כ�$ >����%�19 shooting �"��� �
 ��� !"
����� 4*�a&��� ���
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v2(i+1)=v2(i)+h*(v2(i)+u2(i));

end

y=u1+u2*(ex(n+1)-u1(n+1))/u2(n+1);

plot(x,y,’ko’,x,ex,’k-’)

axis([x(1) x(n+1) min(y)-0.2 max(y)+0.2])

legend(’numerical ’,’exact solution’,2)

34#2G 7.7�	� ���������� ��������� ��V�12@'�.
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34#2G 7.7: ���������� ������ shooting �"��� ���� ��>�	� ������

2.2 4�&	�'�( shooting �����


?������� 2�� ��כ�$��� /��gL �
��� shooting �"��� �	� ?������� /��gL�
 ��$� }� �Y�
 כ�$�(+*

/��gL�
 ���
 �/%2��&%�
!���� wx1-2�
' �� $�T'���� ��
��� gL��%��	 ������ shooting �"��� ��

?�.�F%�'�. 34 �
��� &���� t��� �+��.%���� כ�$�(+* /��gL�
 ��$�%�� �
��� ����� 8������.��

��£¤ ��כ�$��� /��gL�
 ����� 
��8����'�. >���� '���(�� $�1�	� ������� ��V�_̀= �� �
�'�.

y′′ = f(x, y, y′), a ≤ x ≤ b, y(a) = α, y′(a) = t. (7.13)

limk→∞ y(b, tk) = y(b) = β. 19)�/0 y(x, tk)��� t = tk�/%hi*+)�$כ�/��gL (7.13)�
��
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"# /��gL�
 ����������� ��%�-�� y(x) = tanh
(

x√
2ε

)
>��	, 34#2G 7.8��/0 ���������� ����

����� ?���%����'�.

%%%%%%%%%%%%%%%%%%%% nonlinear_shooting.m %%%%%%%%%%%%%%%%%%%%%%%

clear; clf; clc; epsilon=0.5; n=20; flag=1; k=1;

x=linspace(0, 1, n+1); h=x(2)-x(1); ex=tanh(x/(sqrt(2)*epsilon));

tol=1.0e-5; t(k)=(ex(n+1)-ex(1))/(x(n+1)-x(1));

y(1)=0; z(1)=0; zp(1)=1; plot(x,ex,’k-’); hold

while (flag==1)

yp(1)=t(k);

for i=1:n

y(i+1)=y(i)+h*yp(i);

yp(i+1)=yp(i)+h*(y(i)^3-y(i))/epsilon^2;

z(i+1)=z(i)+h*zp(i);

zp(i+1)=zp(i)+h*(3*y(i)^2-1)*z(i)/epsilon^2;

end

if (abs(y(end)-ex(end))<tol || k>2)

flag=0;

end

k=k+1; t(k)=t(k-1)-(y(end)-ex(end))/z(end);

if k==2

plot(x,y,’ko’)

elseif k==3

plot(x,y,’kd’)

else

plot(x,y,’ks’)

end

end

legend(’exact solution’,’first iteration’, ...

’second iteration’,’third iteration’)



8���

$�%�"�����
��� �
��� (:��� 2�
���� 

>� �����/0��� �+?@"���(parabolic) <<�A�
���"�����
��
 �
wx������ �f��� $�%�"�����
���� (:���

2�
���� ��� >����%�19 b��1�=�)��� %�J�. $�%�"�����
��	� X"1���� $�%�
 
���+��!",- .����

�� |�T� $�%>� �
�N��t,��� ¥¦%�(��� ��V� 
��� �"�����
�>�'�. $�%�	� |�h�F��� ��i��/0 2�$�)��

��i���� ���;<2��� ?�ef%�19 ¥¦%�(>� ��V�7��'�. >� 1-2 ���	� $�%�
 ������ 1-2 ��>�)�;< %�

19 $�%�"�����
���� �������"�����
�(diffusion equation)����;< !"B	�'�.

12���� $�%�"�����
��	� '���(�� $�1'�.

ut(x, t) = uxx(x, t), 0 < x < 1, t > 0. (8.1)

>�hi *+)��<JN��	� u(x, 0) = sin(πx)>��	 ������<JN��	� u(0, t) = u(1, t) = 0>�'�. *+

)� */H ������<JN�����!",- �
� (8.1)�	� (:�/%��� ����� $�m��� u(x, t) = sin(πx)e−π2t>�

'�. 34#2G 8.1��� t = 0.0, 0.05, 0.1, 0.15, 0.2�/% hi ���;< 
���+��� ��V�12@ ��כ>�'�.

�� 1 ��� �
�
� �������
 (Finite Difference Method, FDM)

(:��� 2�
���� �	� <<�A�
���"�����
���� 2�
���"�����
�(difference equation)���� >����*+%�19

�����������������%�����"��� >�'�. (:���2�
���� �
���� (finite�FGHכ���:)�	��4, element

method)�� ?��� <<�A�
���"�����
���/0 12� ���-I �"�����
������
 &��
�� �����>� ,
�3� ���>�

�� ��6� 8��� �������
' �$Fכ%/5 $�T)� hi/���� ����� .����>� O�P�	 ����	� y-��� ���:X�>� �����Fכ

123
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��� ��>���� >���� 1�� A�
���� �
��� qr�"� 2�
��(backward difference)>�T� ���'�. >�T

'�� 2�
��(central difference)�	� �
��"� 2�
���� qr�"� 2�
���
 ]��j&����� �
� (8.2)��/0 �
�

(8.4)��� 89a '���( 32� >� ���
 �"���� ��.�%��	 ux(x, t)�� �
%�19 �������.����£¤ ��>���

�� �
�'�.

ux(x, t) =
u(x + h, t) − u(x − h, t)

2h
+ O(h2). (8.6)

�
��"�,qr�"�,>�T'��2�
�����>����%�19��.���
X"1������
��/0A�

�כ�$��
��8��=�������כ�$

J�. difference.m�	���.�� u(x) = sinx�
 x = π/4��/0 h = 1/2k, k = 1, 2, . . . , 10�/%

hi��m� �������
 2�
����� >����%�19 A�
���כ�$�� �����%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%% difference.m %%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; x=pi/4;

fprintf(’ h forward backward central \n’)

for k=1:10

h=1/2^k;

forw=(sin(x+h)-sin(x))/h;

back=(sin(x)-sin(x-h))/h;

cent=(sin(x+h)-sin(x-h))/(2*h);

fprintf(’%.6f %.6f %.6f %.6f \n’,h,forw,back,cent)

end

difference.m��� �	
��6%�-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

h forward backward central

0.500000 0.504886 0.851135 0.678010

0.250000 0.611835 0.787693 0.699764

0.125000 0.661130 0.749403 0.705267

0.062500 0.684557 0.728736 0.706647

0.031250 0.695944 0.718039 0.706992

0.015625 0.701554 0.712602 0.707078

0.007813 0.704337 0.709862 0.707100

0.003906 0.705724 0.708486 0.707105
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%��	 d�����
��� tn, }� ��
 8�>��
 ����?���� kT� %�J�. 34
�-�� h = (b − a)/(Nx − 1),

k = T/Nt, xi = a + (i − 1)h, tn = (n − 1)k>��	

a = x1 < x2 < · · · < xNx−1 < xNx = b

0 = t1 < t2 < · · · < tNt < tNt+1 = T

�� $�1>� ���'�. ��3���� un
i = u(xi, tn)>�T� ]�)��� ���'�.

$�%�"�����
��� �
��� 
��8������ ���.����, ��.3+����, l�5�6l�-&�4�"5�� (:��� 2�
���� ��� >�

���%�19 ����=�J�.

�� 2 ��� Explicit �
�
� �������


-��y- ����� Nx > 0��� ���b	�%��	 h = 1/(Nx − 1)>�T� ����
%�-��, �
� (8.3)�� (8.7)���

>����%�19, $�%�"�����
� (8.1)�� �
�� '���(�� $�1>� (:���2�
���� ��� �������
' �� �
��M ���'�.

.������ �
��/0 ut��� �
��"�2�
��, 34���	 �������� �
��/0 uxx��� >�T'�� 2�
����� >����%�19

$�%�"�����
���� '���(�� $�1>� >����*+%�19 ��V�_̀= �� �
�'�.

un+1
i − un

i

k
+ O(k) =

un
i+1 − 2un

i + un
i−1

h2
+ O(h2) (8.8)

for i = 2, . . . , Nx − 1 and n = 1, 2, . . . , Nt.

O(k)�� O(h2)��� ��.�%�-��, �
�(8.8)��� 2�
���"�����
�

un+1
i = un

i + α(un
i+1 − 2un

i + un
i−1), α =

k

h2
(8.9)

���� ������
' �� �
�'�. *+)������ u1
i = sin(πxi), i = 1, 2, . . . , Nx>�'�. un

i��� ����	

�
�'�-�� ���.�������� un+1
i ��� ������
' �� �
�'�. >���כ>� >� �"��� ��� ���.����>�T� !"B	�

'�. heatex.m�	� α = 0.45, Nx = 30�/% hi, .������ |�B	� $�%�"�����
��
 ����� ��V�12@

MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%% heatex.m %%%%%%%%%%%%%%%%%%%%%%%%%%%

clf; clear; clc; alpha=0.45; Nx=30; x=linspace(0,1,Nx);



gL 2 3�% EXPLICIT (:��� 2�
���� 129

��V�12@ MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%% heatexunstable.m %%%%%%%%%%%%%%%%%%%%%%%

clf; clear; clc; alpha=0.55; Nx=30; x=linspace(0,1,Nx);

h=x(2)-x(1); k=alpha*h^2; T=0.125; Nt=round(T/k);

u(1:Nx,1:Nt+1)=0; u(:,1)=sin(pi*x); exu=u;

for n=1:Nt

for i=2:Nx-1

u(i,n+1) = u(i,n)+alpha*(u(i-1,n)-2*u(i,n)+u(i+1,n));

exu(i,n+1) = sin(pi*x(i))*exp(-pi^2*(k*n));

end

end

plot(x,u(:,1),’k*’,x,u(:,50),’kd’,x,u(:,100),’ks’,...

x,u(:,Nt+1),’ko’); hold

plot(x,exu(:,1),’k’,x,exu(:,50),’k’,x,exu(:,100),’k’,...

x,exu(:,Nt+1),’k’)

legend(’initial’,’n=50’,’n=100’,’n=Nt+1’,’exact solution’,-1)

xlabel(’x’,’FontSize’,20); ylabel(’u(x,t)’,’FontSize’,20)

2.1 ���&���	 �����
�� �
����,�� ����� - ��� :���	
� (von Neumann) �����


(:��� 2�
���� ��� 8����%�19 <<�A�
���"�����
��
 ��������� ���
' hi ��� time step��/0 +�,)�

��� U<2���� gL1�%�m� J�F%�-�� �������� ��.[\ U<2���� ������%��	 �&%678 P������������ QR

9=<���'�. |�T�/0 (:��� 2�
���� ��� 8����%�19 ������������ ��������� ��>)� "#��/0��� ������

��� 
������� �
��� U<2��
 gL1���� 5/%�����>�'�. >���� "#�� �/%4*�������� 8����t,��� �"��� 

>�T�
 %���$� 1�� j<>�!�� �"��� >�'�. 1�� j<>�!�� �"��� �	� 2�
���"�����
��
 ����� (:��� �Y

�
 I"���� �YH�� (finite Fourier series)�� ��V�12@ '���(, ��.���
 ��������� �	
�%���� ��כ

>�'�. I"���� �YH����� 8������ QR8�����
 �<�
!���� wx1-2�
' ��;< �
�m�!�� a&�GHm�����.

���� ��V� 
-�� �������� ������%��M �
' �� �
�'�. 2��

un
k = eiβkhξn (8.10)
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�� 3 ��� Implicit �
�
� �������


���.���� (:��� 2�
���� �
 �������<JN���� 0 < α ≤ 1
2�
 gL'(���� ¢�%�)� "#�� ��.3+���� (:���

2�
���� ��� >�������'�. ��.3+���� �"��� �	� .��������?���� ����M ST%�m� ����	;< ����	� ���
 �?�

J���
!�"���>�����
'���
�'�. '�!����.3+�����"��� �	�(:���2�
�����-I �"�����
��
���������

a~���'�. =��&���.3+����(:���2�
���� >�T��	���
����#���
���.3+����(:���2�
���� �	� ut��

�
��� qr�"� (:��� 2�
�� 
��8��� uxx�� �
��� >�T'�� 2�
�� 
��8���� >�������'�. |�T�/0 '���(

�� $�1�	� ��.3+���� (:��� 2�
�� �"�����
���� >�UYe1� _̀= �� �
�'�.

un+1
i − un

i

k
=

un+1
i−1 − 2un+1

i + un+1
i+1

h2
.

'�.� �����%�-�� '���(�
 ��.3+���� (:��� 2�
�� �"�����
�

−αun+1
i−1 + (1 + 2α)un+1

i − αun+1
i+1 = un

i , α =
k

h2
, i = 2, · · · , Nx − 1 (8.13)

�����>�M���'�. �
� (8.13)�	�'���(��$�1�	�������.�@���# (linear system)������V�_̀=��

�
�'�.

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 + 2α −α 0 . . . 0

−α 1 + 2α −α 0

0 −α
. . . . . .

...

...
. . . . . . −α

0 0 −α 1 + 2α

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

un+1
2

un+1
3

...

...

un+1
Nx−1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
(8.14)

=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

αun+1
1 + un

2

un
3

...

...

un
Nx−1 + αun+1

Nx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

bn
2

bn
3

...

...

bn
Nx−1

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
. (8.15)
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=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

b1

b2

b3

...

bi

...

bNx−1

bNx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

, (8.18)

19)�/0 wx.�t,m� ����	� ���GH!�"�	� P<}� 0>�'�.  �F>�T�
���(Tridiagonal) ��6� 8�	� |i −
j| ≥ 2�/% hi, aij = 0$� t,��� ���,4���� $�m��	 �
�'�. >�gL  �F>�T�
��� ��6� 8�
 ����� ��

%���� ����	��2�(��� ����=�J�. 1��6�� a1/d1��� G�H��� ���כ�$ 2��6��/0 89a'�. 34
�-�� a1�


J�������� 0>� "#��%��M t,�	 d2�� b2�
 >;כ�$ '���(�� $�1>� &��%��M ���'�.

d2 = d2 − a1

d1
c1, b2 = b2 − a1

d1
b1

%�m�!�� c2��� &��%�m� ������'�.⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

d1 c1

0 d2 − a1c1

d1
c2

a2 d3 c3

. . . . . . . . .

ai−1 di ci

. . . . . . . . .

aNx−2 dNx−1 cNx−1

aNx−1 dNx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

x1

x2

x3

...

xi

...

xNx−1

xNx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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19)�/0 bi�� di!�"�	� ����( �����כ�$ '�B	� ���כ�$ $�m��	 �
�m�!�� ci�
 �	�"�!כ�$ ����( ��כ�$

����/%%�'�. >�gL qr�"��
�/ ��� �&��� xNx , xNx−1, · · · , x1��� 2�ef�� ���
' �� �
�'�.

xNx =
bNx

dNx

,

xi =
1
di

(bi − cixi+1), i = Nx − 1, Nx − 2, · · · , 1.

heatim.m�	� $�%�"�����
��
 ��.3+���� (:��� 2�
���� ��� >������� ��������� k�d�@� ����	��2�(

��� >����%�19 ��%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%% heatim.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; Nx=12; x=linspace(0,1,Nx); h=x(2)-x(1);

T=0.1; alpha=2; k=alpha*(h^2); Nt=round(T/k);

u(:,1)=sin(pi*x);

for i=1:Nx-2

dd(i)= 1 + 2*alpha; c(i)= - alpha; a(i)= - alpha;

end

for n=1:Nt

d=dd;

for i=1:Nx-2

b(i)=u(i+1,n);

end

for i=2:Nx-2

xmult= a(i-1)/d(i-1);

d(i) = d(i) - xmult*c(i-1);

b(i) = b(i) - xmult*b(i-1);

end

u(Nx-1,n+1) = b(Nx-2)/d(Nx-2);

for i = Nx-3:-1:1

u(i+1,n+1) = (b(i) - c(i)*u(i+2,n+1))/d(i);

end
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|�T�/0

ξ =
1

4α sin2(βh/2) + 1
. (8.20)

ξ���P<'��'N��� α��P<'�� β���
��/0 1
4α+1 ≤ ξ ≤ 1���!��2S����'�. |�T�/0�
� (8.13)�	�

���<JN� ���������>�'�. >���� 34#2G 8.5�� �������
' �� �
�'�.

�� 4 ��� Crank-Nicolson �����


m� _k��m� ����YH��� ���.���� O<��� ��.3+���� �"��� ��� ���&���� �	
���� �"��� >� l�5�6l�-&�4�"

5�� �"��� >�'�. l�5�6l�-&�4�"5�� �"��� �	� .���� �?�J� n�� n + 1�
 >�T����� �
���� A�
�� 
��

8�כ�$ u
n+1/2
i ���>�������'�. .���
 (n+1/2)��/0.�������
��� 1��<<�A�
�������%�-��'�

��(�� $�1'�.

ut(xi, t
n+1/2) =

un+1
i − un

i

k
+ O(k2) (8.21)

O<��� .���
 n + 1/2��/0 ������&���� x�� �
��� 2�� <<�A�
���	� .���
 n�� n + 1��/0 2��

<<�A�
�� 
��8����כ�$ ]��j&���/0 �����'�.

uxx(xi, t
n+1/2) =

1
2
(
uxx(xi, t

n) + uxx(xi, t
n+1)

)
+ O(h2) (8.22)

=
1
2

(
un

i+1 − 2un
i + un

i−1

h2
+

un+1
i+1 − 2un+1

i + un+1
i−1

h2

)
+O(h2).

}� 
��8��
� (8.21)�� (8.22)�
 3�%���U<2���� ������ O(k2)�� O(h2)���� 
��8��
��
 ������

;<$� :�R)� hi/���� ����	� �������� %�m� ���a�;< ����
�������/0 !��2S�@�
�)�� ����� ��>���

�� �
�'�. �
� (8.21)�� (8.22)�
 (�&����� $�1�M %�-�� '���(�� $�1�	� l�5�6l�-&�4�"5�� �
����

��>��� �� �
�'�.

−αun+1
i−1 + 2(1 + α)un+1

i − αun+1
i+1 = αun

i−1 + 2(1 − α)un
i + αun

i+1, (8.23)
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end

for n=1:Nt

d=dd;

for i=1:Nx-2

b(i)=alpha*u(i,n)+2*(1-alpha)*u(i+1,n)+alpha*u(i+2,n);

end

for i = 2:Nx-2

xmult=a(i-1)/d(i-1);

d(i)=d(i)-xmult*c(i-1); b(i)=b(i)-xmult*b(i-1);

end

u(Nx-1,n+1) = b(Nx-2)/d(Nx-2);

for i = Nx-3:-1:1

u(i+1,n+1) = (b(i) - c(i)*u(i+2,n+1))/d(i);

end

end

plot(x,u,’ko-’);

xlabel(’x’,’FontSize’,20); ylabel(’u(x,t)’,’FontSize’,20)

"#�
 QRS� heatCN.m��� �	
��6%�-�� 34#2G 8.6�
 �&%����� ��>��� �� �
�'�.

4.1 ; ���; -<������� �����
�� �
����,�� ����� - ��� :���	
� (von Neumann) ���

��


.����>� m�U�F�� |�T�/0

un
k = eiβkhξn (8.25)
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�� 5 ��� Prevention of spurious oscillations

5.1 ; ���; -<������� �����
�� ��6��-�	�	(numerical oscillations)

l�5�6l�-&�4�"5�� �"��� �	� '(�����
 ������������� #"$���.����£¤ 22� ������;<��� $�m��� 1��

j<>�!���
 ��������� 
������� �
�� ���<JN�������� ������%�'�. 34
��� Δt$� §�4/%��%&� ��

��������>� ��V������ ����X�>� �
�'�. >���� ������%�)� "#�� '���(�� $�1�	� /��gL��� +�,�����

=�J�.

ut(x, t) = uxx(x, t), 0 < x < 1, t > 0.

>�hi *+)��<JN��	� u(x, 0) = 0.3H(x) + 0.4H(x − 0.5)>��	, ������<JN��	� ux(0, t) =

ux(1, t) = 0>�'�. ������<JN����
%�19P<'��.������/0�
������ u0 = u1�� uNx+1 =

uNx>�'�. >���� ������%�19 ��6� 8 ������� wx1-2%�-�� '���(�� $�1'�.⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

(2 + α) −α

−α 2(1 + α) −α

−α 2(1 + α) −α

. . . . . . . . .

−α 2(1 + α) −α

−α (2 + α)

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

un+1
1

un+1
2

un+1
3

...

un+1
Nx−1

un+1
Nx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠

=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

(2 − α)un
1 + αun

2

αun
1 + 2(1 − α)un

2 + αun
3

αun
2 + 2(1 − α)un

3 + αun
4

...

αun
Nx−2 + 2(1 − α)un

Nx−1 + αun
Nx

αun
Nx−1 + (2 − α)un

Nx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
=

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

bn
1

bn
2

bn
3

...

bn
Nx−1

bn
Nx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
. (8.27)

osc_heatCN.m�	� $�%�"�����
���� l�5�6l�-&�4�"5�� �"��� �� �
�� l�� MATLAB QRS�>�'�.
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for i = Nx-1:-1:1

u(i,n+1) = (b(i) - c(i)*u(i+1,n+1))/d(i);

end

end

if iter==1

plot(x,u(:,2),’ko-’);

else

plot(x,u(:,2),’kd-’);

end

end

axis([0 1 0.2 0.8])

legend(’initial condition’,’\alpha=0.2’,’\alpha=10’)

xlabel(’x’,’FontSize’,20); ylabel(’u(x,t)’,’FontSize’,20)

"#�
 QRS� osc_heatCN.m��� �	
��6%�-�� '���(�
 �&%����� ��>��� �� �
�'�.

0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0.2

0.3

0.4

0.5

0.6

0.7

0.8

x

u(
x,

t)

initial condition
α=0.2
α=10

34#2G 8.7: ��������. α = 0.2 �� α = 10.
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m� _k��m��
 
������ �V"��������.����,��.3+����,l�5�6l�-&�4�"5���"��� ���8�����
'hi

����������>� +�,)�m� ���)� "#��/0��� ������ α < 1/2, α��� P<'�� �	
��, α < 1��� !��2S�%�

-�� ���'�.

�� 6 ��� Convergence =	5 /+

678GH3�%���U<2�(local truncation error)��� ���.E ��$� j<S���
��/0 ������� �"��� ��� !��2S�

%�m� J�F%���� 2�>���� ]�������� ��כ>�'�. ���� )��� �
 678GH3�%���U<2���� ���.E ������ /��gL

�
 ��������� ����� >���������� ����)��� �� �
�/ ��.����£¤ -9.+�,���'�. u(xi, t
n)��� $�%�"����

�
��
 ��������� ����� ��V�12@'�.

'���(�	� ��������� ����� ����)��� �� �
�/ ��.����£¤ ���.���� (:���2�
���� �
 678GH3�%���U<

2���� J9K��� �����>�'�. j<S� (xi, t
n)��/0 678GH3�%���U<2���� '���(�� $�1>� �����'�.

T (xi, t
n) =

u(xi, t
n+1) − u(xi, t

n)
k

− u(xi+1, t
n) − 2u(xi, t

n) + u(xi−1, t
n)

h2
.

>�gL j<S�(xi, t
n)��/0 no�/%
��
��Y��� %�-�� �������
 �"���� '���(�� $�1>� ��V�_̀= �� �
�

'�.

T (xi, t
n) = ut(xi, t

n) +
k

2
utt(xi, t

n) + O(k2)

−uxx(xi, t
n) +

h2

12
uxxxx(xi, t

n) + O(h4).

19)�/0 u(xi, t
n)�	� $�%�"�����
���� !��2S�%����� '���(>� ���-I ���'�.

T (xi, t
n) =

k

2
utt(xi, t

n) +
h2

12
uxxxx(xi, t

n) + O(k2) + O(h4)

= O(k) + O(h2). (8.31)

������� ��$� ���?
%�)� "#�� ���Fכ%/5 �<JN��	� ����)��� �
 678GH3�%���U<2�$� ������

����?���.��������?����>���/%��%&� 0��
��8���a~���'������כ>�'�. >�S�%���(�������)��� 

>� �/%"�����(consistent)>�T��	 ���'�. ������;<�
 2���(order of accuracy)��� 3�%���U<2�

�"���/0 h�� k�
 .�����
 2����� ����
���'�. 3�%���U<2��"���� O(kl + hm)�� $����%�-��

����)��� >� l2� .���� ������(lth order time accurate)%��	 m2� ������ ������(mth order

space accurate)%�'��	 ���'�. �
� (8.31)����!",- ���.���� (:���2�
���� �	� 12� .���� ���

���%��	 22� ������ ��������.��� ��� �� �
�'�.
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|�T�/0 >����U<2�O���	�

E(h1)
E(h2)

= rp

>��	 "��]�� ������;< p��� '���(����!",- ]��������'�.

p =
log

(
E(h1)
E(h2)

)
log(r)

.

6.2 ���&���	 �
�
��������


$�%�"�����
��
 ���.���� (:��� 2�
���� �
 ���?
������ ���a�=�)� "#�� '���(�
 no@�p7��� ����6

�� =�J�.

%%%%%%%%%%%%%%%%%%%%% heatex_convergence_test.m %%%%%%%%%%%%%%%%%

clear; clc; T=0.1; alpha=0.1;

for iter=1:5

N=10*2^(iter-1)+1; x=linspace(0,1,N); h=x(2)-x(1);

k=alpha*h^2; Nt=round(T/k); u(1:N,1:Nt+1)=0;

u(:,1)=sin(pi*x); exact=u(:,1)*exp(-pi^2*T);

for n=1:Nt

for i=2:N-1

u(i,n+1)=alpha*u(i-1,n)+(1-2*alpha)*u(i,n)+alpha*u(i+1,n);

end

end

hh(iter)=h; tt(iter)=k;

err(iter) = max(abs(u(:,Nt+1) - exact));

end

Order=[log(err(1)/err(2))/log(2) log(err(2)/err(3))/log(2)

log(err(3)/err(4))/log(2) log(err(4)/err(5))/log(2)]’;

fprintf(’----------------------------------------------\n’)

fprintf(’ h dt max error order \n’)
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for iter=1:5

N=10*2^(iter-1)+1; x=linspace(0,1,N); h=x(2)-x(1);

k=alpha*h^2; Nt=round(T/k); u(1:N,1:Nt+1)=0;

u(:,1)=sin(pi*x); exact=u(:,1)*exp(-pi^2*T);

for i=1:N-2

dd(i)= 1 + 2*alpha; c(i)= -alpha; a(i)= -alpha;

end

for n=1:Nt

d=dd;

for i=1:N-2

b(i)=u(i+1,n);

end

for i=2:N-2

xmult= a(i-1)/d(i-1);

d(i) = d(i) - xmult*c(i-1);

b(i) = b(i) - xmult*b(i-1);

end

u(N-1,n+1) = b(N-2)/d(N-2);

for i = N-3:-1:1

u(i+1,n+1) = (b(i) - c(i)*u(i+2,n+1))/d(i);

end

end

hh(iter)=h; tt(iter)=k;

err(iter) = max(abs(u(:,Nt+1) - exact));

end

Order=[log(err(1)/err(2))/log(2) log(err(2)/err(3))/log(2) ...

log(err(3)/err(4))/log(2) log(err(4)/err(5))/log(2)]’;

fprintf(’------------------------------------------------\n’)

fprintf(’ h dt max error order \n’)
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k=h/500; Nt=round(T/k); alpha = k/h^2; u(1:N,1:Nt+1)=0;

u(:,1)=sin(pi*x); exact=u(:,1)*exp(-pi^2*T);

for i=1:N-2

dd(i)= 2*(1+alpha); c(i)= -alpha; a(i)= -alpha;

end

for n=1:Nt

d=dd;

for i=1:N-2

b(i)=alpha*u(i,n)+2*(1-alpha)*u(i+1,n)+alpha*u(i+2,n);

end

for i = 2:N-2

xmult=a(i-1)/d(i-1);

d(i)=d(i)-xmult*c(i-1); b(i)=b(i)-xmult*b(i-1);

end

u(N-1,n+1) = b(N-2)/d(N-2);

for i = N-3:-1:1

u(i+1,n+1) = (b(i) - c(i)*u(i+2,n+1))/d(i);

end

end

hh(iter)=h; tt(iter)=k;

err(iter) = max(abs(u(:,Nt+1) - exact));

end

Order=[log(err(1)/err(2))/log(2) log(err(2)/err(3))/log(2)

log(err(3)/err(4))/log(2) log(err(4)/err(5))/log(2)]’;

fprintf(’------------------------------------------------\n’)

fprintf(’ h dt max error order \n’)

fprintf(’------------------------------------------------\n’)

fprintf(’%8.5f %8.6f %8.6f \n’,hh(1), ...

tt(1) ,err(1))



9���

$�%�"�����
��� �
��� (:���  ��FGHכ

>� �����/0��� $�%�"�����
��
 ��������� (:��� 2�
���� ����� '�B	� (:��� ���� ��FGHכ ��%����

�"��� ��� GH�Y%��	J� ���'�. 12���� $�%�"�����
��	� '���(�� $�1'�.

ut(x, t) = uxx(x, t), 0 < x < 1, t > 0. (9.1)

*+)��<JN��	� u(x, 0) = sin(πx)�� }��	 ������<JN���� u(0, t) = u(1, t) = 0��� ���(�

�� �
��/0 b��;<%&� ���'�. ���<<� *+)� */H ������<JN�����!",- �
� (9.1)�	� u(x, t) =

sin(πx)e−π2t�
 (:�/%��� ����������� $�@���'�.

�� 1 ��� �
�
� ������
 (Finite Element Method, FEM)

�%������������������	� ��FGHכ���:)���X"כF����"��� >�T%���>�'�. a&�C�D���������O<���

.������ |�T� &��%���� ��������/0�
 <<�A�
�� �"�����
���� b���	J� �
' hi 3� 
��>� ���'���� ���

��
��� $�@�	 �
�'�. (:��� �	� ��FGHכ /��gL�
 ������(domain)��� !"
��������(subdomain)��

�� ��m@" �$Fכ%/5 �
��	, 34 !"
����������� (:��� FGH(finiteכ element)T� ���'�. 34
�����

/��gL �������	� ����	� (:��� ��FGHכ �����t,1� �
�'�.

>� �����/0��� 
��8������ ��%�)� "#�� '���(�� $�1�	� �?�J�(Mesh)��� ����
%�;<%&� ���

'�. ����� [0, 1]��� Nx−1���
��%��	d�����
��� xi,}���
8�>��
����?���� hi = xi+1−xiT�

%�J�. 34���	 xi�� xi+18�>��
 ���
����� i&���i �FGH(element)Tכ ����
���'�.

153
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>�T��	 ���'�. >� 0	���/0��� Galerkin �"��� �� �
��/0!�� ����YH%�;<%&� ���'�. Galerkin

�"��� �	� �������� .�;< ��.����!",- ��>1�m���� $�>�T(.��VG) ��.����� >�������'�. 2��,

ωi =
dũ

dai
, ω = ω1 + ω2 · · · + ωNx (9.4)

��� ������%�19 ���
���כ�$�� �����%���� �"��� ��� ������'�. 19)�/0 ai��� .�;< ��.���
 A�m� ��

��>�'�. X"1����.�;<��.�� ũ��.��VG��.�� ω����
� (9.2)���
�/ %�19���
�%��������כ�$��

�	A�m����� ai�����%�-�����'�. %�m�!��X"1����.�;<��.�� ũ�����������.��)�hi/����

�
� (9.2)��/0 ũxx�
}�&��A�
��>�P��$�K��%�'�. �
� (9.2)��!"
�����
�����������%�-��m���

�"�����
��
 2������ &�@A�� �� �
��	 34S�P�M ��>1���� �"�����
���� '(����(weak formulation)>�

T��	 ���'�. ���5��
 �
� (9.2)�	� $�>�T W��19 �"��� �
 ������(strong formulation)>�T� ���

'�. $�%�"�����
���� '(�������� wx1-2%�-�� '���(�� $�1'�.

I =
∫ 1

0
ω

dũ

dt
dx +

∫ 1

0
ω

d2ũ

dx2
dx

=
∫ 1

0
ω

dũ

dt
dx −

∫ 1

0

dω

dx

dũ

dx
dx +

[
ω

dũ

dx

]1

0

= 0. (9.5)

X"1���� ����� �<JN��� �
��/0 �
� (9.5)�
 KL &���i �"��	� 0���� m�"6m��M t,1� '���(��

$�1�	� �"�����
���� ��>�M ���'�.

I =
∫ 1

0
ω

dũ

dt
dx −

∫ 1

0

dω

dx

dũ

dx
dx = 0. (9.6)

>�gLX"1����.�;<��.�� ũ��.��VG��.�� ω���������%�19������
'���
�m�!��������
<<��


���"#��/0�
�FGHכ��"����

�����"� FGH���-Iכ���:)0/��������>����"��� ������a�=�;<%&�%�

J�. -��y- ��� i&���i FGH��/0כ '���(�� $�1>� ������ P<'N� ��.��(linear shape function)���

����
���'�.

H1(x) =
xi+1 − x

hi
, H2(x) =

x − xi

hi
. (9.7)

������ P<'N� ��.����� ��3��/0 GH�Y��� �
� (9.3)��� i&���i ��!FGH��/0כ +�,����	c��� hi�
 ��.��

�
 �����>�'�. i&���i d�����
 xi�� ���"����� P<'N���.����� i&���i d�����
��/0 כ�$��.�� 1���

$�@�	 '�B	� d�����
��/0��� 0��� $�@���'�. 2��,

H1(xi) = 1, H1(xi+1) = 0, H2(xi) = 0, H2(xi+1) = 1
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>� ���'�. 34���	 }�&���i �YH����/0 ��� �"��
 FGHכ i�� �
��� FGHכ ��6� 8�	� '���(�� $�1

a����'�.

[Mi] :=
∫ xi+1

xi

⎛⎜⎝
⎡⎢⎣ H1

H2

⎤⎥⎦ [H1H2]

⎞⎟⎠ dx =
∫ xi+1

xi

⎡⎢⎣ H1H1 H1H2

H2H1 H2H2

⎤⎥⎦ dx

>�'�. ��� ���
���
 ���
����� �����%�-�� '���(�� $�1'�.

∫ xi+1

xi

H1H1dx =
∫ xi+1

xi

(xi+1 − x)2

h2
i

dx =
1
h2

i

[
(xi+1 − x)3

3

]xi+1

xi

=
hi

3
,∫ xi+1

xi

H2H2dx =
∫ xi+1

xi

(x − xi)2

h2
i

dx =
1
h2

i

[
(x − xi)3

3

]xi+1

xi

=
hi

3
,∫ xi+1

xi

H1H2dx =
∫ xi+1

xi

−(x − xi)(x − xi+1)
h2

i

dx =
1
h2

i

(xi+1 − xi)3

6
=

hi

6
.

"# ���
����� ������%�-��

[Mi] =
hi

6

⎡⎢⎣ 2 1

1 2

⎤⎥⎦
>� ���'�. 34
����� ��� ��FGHכ �
��� �"�����
��	� '���(�� $�1>� ������
' �� �
�'�.

[Mi]

⎡⎢⎣ ui

ui+1

⎤⎥⎦
t

+ [Ki]

⎡⎢⎣ ui

ui+1

⎤⎥⎦ =

⎡⎢⎣ fi

fi+1

⎤⎥⎦ (9.9)

19)�/0 fi��� ������<JN��� �
��/0 ��������'�. �
� (9.9)��� �
� (9.8)�� ?���%�-��

∫ xi+1

xi

ω
dũ

dt
dx ≡ [Mi]

⎡⎢⎣ ui

ui+1

⎤⎥⎦
t∫ xi+1

xi

dω

dx

dũ

dx
dx ≡ [Ki]

⎡⎢⎣ ui

ui+1

⎤⎥⎦



gL 2 3�% EXPLICIT (:��� � 159�FGHכ

>� t,�	, �����%�-�� '���(�� $�1�	� ���.����(explicit) (:��� ��� ��FGHכ ��>���'�.

[M ]Un+1 = k(Fn − [K]Un) + [M ]Un

>� �
��	� X"1���� *+)��<JN� U0�� ������<JN� Fn����!",- b�� �� �
�'�.

femex.m�	� .������ |�B	� $�%�"�����
��
 ����� ��V� 
��� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%% femex.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; Nx=20; nel=Nx-1; nnel=2; ndof=1; nnode=Nx;

sdof=nnode*ndof; deltt=0.001; ntime=20;

for i=1:nnode

gcoord(i)=(i-1)*(1/nel);

end

for i=1:nel

nodes(i,1)=i; nodes(i,2)=i+1;

end

bcdof(1)=1; bcval(1)=0; bcdof(2)=nnode; bcval(2)=0;

ff=zeros(sdof,1); fn=zeros(sdof,1); fsol=zeros(sdof,1);

kk=zeros(sdof,sdof); mm=zeros(sdof,sdof);

index=zeros(nnel*ndof,1);

for iel=1:nel

nd(1)=nodes(iel,1); nd(2)=nodes(iel,2);

x1=gcoord(nd(1)); x2=gcoord(nd(2)); eleng=x2-x1;

edof=nnel*ndof; start=(iel-1)*(nnel-1)*ndof;

for i=1:edof

index(i)=start+i;

end

a1=1/eleng;

k=[ a1 -a1; -a1 a1];

b1=eleng/6;
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kk(c,c)=1; fn(c)=bcval(i);

end

fsol(:,it+1)=kk\fn;

end

for j=1:ntime+1

for i=1:nnode

x=gcoord(i);

esol(i,j)=sin(pi*gcoord(i))*exp(-pi^2*(j-1)*deltt);

end

end

plot(gcoord,fsol(:,ntime+1),’ko’)

hold on

plot(gcoord,esol(:,ntime+1),’k-’)

legend(’numerical solution’,’exact solution’)

femex.m��� �	
��6%�-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

�� 3 ��� Implicit �
�
� ������


.���� A�
���� �
��� qr�"�2�
���	� '���(�� $�1>� wx1-2���'�.

Un+1
t =

Un+1 − Un

k
.

19)�/0 k��� .���� ����?�(time step)>�T� ���'�. >� �
���� �
� (9.10)�� �
�/ %�-��

[M ]
Un+1 − Un

k
+ [K]Un+1 = Fn+1

>� t,�	, �����%�-�� '���(�� $�1�	� ��.3+����(implicit) (:��� ��� ��FGHכ ��>���'�.

([M ] + k[K])Un+1 = kFn+1 + [M ]Un

femim.m�	� .������ |�B	� $�%�"�����
��
 ����� ��V� 
��� MATLAB QRS�>�'�.
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nd(1)=nodes(iel,1); nd(2)=nodes(iel,2);

x1=gcoord(nd(1)); x2=gcoord(nd(2)); eleng=x2-x1;

edof=nnel*ndof; start=(iel-1)*(nnel-1)*ndof;

for i=1:edof

index(i)=start+i;

end

a1=1/eleng;

k=[ a1 -a1; -a1 a1];

b1=eleng/6;

m=b1*[ 2 1; 1 2];

edof=length(index);

for i=1:edof

ii=index(i);

for j=1:edof

jj=index(j); kk(ii,jj)=kk(ii,jj)+k(i,j);

end

end

edof=length(index);

for i=1:edof

ii=index(i);

for j=1:edof

jj=index(j); mm(ii,jj)=mm(ii,jj)+m(i,j);

end

end

end

for in=1:sdof

fsol(in,1)=sin(pi*gcoord(in));

end

for it=1:ntime
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0 0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9 1
0
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0.2

0.3

0.4

0.5

0.6
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0.8

0.9

34#2G 9.4: ��.3+���� (:��� ��� ��FGHכ >������� �&%��

19)�/0 k��� .���� ����?�(time step)>�T� ���'�. 34���	 a�5��� $�1>� ���� 	��,- U��


����� 	��,- F�
 n + 1
2��/0�
 ���כ�$ ����
���'�

Un+ 1
2 =

1
2
(Un + Un+1),

Fn+ 1
2 =

1
2
(Fn + Fn+1).

"# �
�!�"��� �
� (9.10)�� �
�/ %�-��

[M ]
Un+1 − Un

k
+ [K]Un+ 1

2 = Fn+ 1
2 ,

[M ]
Un+1 − Un

k
+ [K]

(Un + Un+1)
2

=
(Fn + Fn+1)

2
,

>� t,�	, �����%�-�� '���(�� $�1�	� l�5�6l�-&�4�"5��(Crank-Nicolson) (:��� ��� ��FGHכ ��>

���'�.
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for i=1:edof

ii=index(i);

for j=1:edof

jj=index(j); kk(ii,jj)=kk(ii,jj)+k(i,j);

end

end

edof=length(index);

for i=1:edof

ii=index(i);

for j=1:edof

jj=index(j); mm(ii,jj)=mm(ii,jj)+m(i,j);

end

end

end

for in=1:sdof

fsol(in,1)=sin(pi*gcoord(in));

end

kn=2*mm+deltt*kk;

for it=1:ntime

fn=deltt*ff+(2*mm-deltt*kk)*fsol(:,it);

n=length(bcdof); sdof=size(kn);

for i=1:n

c=bcdof(i);

for j=1:sdof

kn(c,j)=0;

end

kn(c,c)=1; fn(c)=bcval(i);

end

fsol(:,it+1)=kn\fn;



10���

$�%�"�����
��� �
��� >���� I"���� &��
��

$�%�"�����
���� ����������� 
��8�%����_̂ >���� I"���� �YH����� >������� 
����������� 3� 
�� �"�

�� �	� ���.E I"���� &��
���� $�1'�. X")���� 2π�� $�@��� a&�GH ��.�� f�� g��� +�,�����=�J�.

34���	 ���.E I"���� �YH����/0 8������� ���
��  
����� (:8����  
������ '���(�� $�1>� ���

�
%�J�.

x0 x1 x2 x xL L + 1· · · · · ·

0 2π

34#2G 10.1: �Bwx

כ�$����<

xk =
2πk

L + 1
, k = 0, · · · , L

�� �
��/0 ��.�� f�� g�
  
����	�

(f, g) =
L∑

k=0

f(xk)g(xk)

>�'�. 34���	 �������
 k�� �
��/0 φk = eikx��� �"����� $�@��� ��$�% {φk}�	� '���(�� $�1

169
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19)�/0 �YH���
 �������

cj =
(f, φj)
(φj , φj)

>��	, L>� X����>�-�� θ = 0>��	 k0 = L
2 , L>� n'o��>�-�� θ = 1 >��	 k0 = L−1

2 >�

'�.

"# �������� 2�����%�)� "#��/0��� −k0 ≤ m ≤ k0 + θ�� .E %���� �������
 m�� �
��

/0 �
� (10.1) 'N�&���� e−imxp��� G�H%��	, x�� כ�$����< x0, x1, · · · , xL��� �
�/ ��� YZ �YH��

��� ST���'�. 34
�-�� '���(�� $�1�	� �
���� ��>��� �� �
�'�.
L∑

p=0

f(xp)e−imxp =
L∑

p=0

e−imxp

k0+θ∑
j=−k0

cje
ijxp

U<B	�cS� �"��
 d�m�0�� �YH����/0 s = j + k0��� >����%�19 �"��
 Q��/0���  �¡�1�X"�	,

2k0 + θ = L>�)� hi/����

L∑
p=0

f(xp)e−imxp =
L∑

p=0

e−imxp

2k0+θ∑
s=0

cs−k0e
i(s−k0)xp

=
L∑

s=0

cs−k0

L∑
p=0

ei(s−k0)xpe−imxp

=
L∑

s=0

cs−k0(φs−k0 , φm) = (L + 1)cm

>�'�. 34
����� '���(�� $�1�	� ������� ��>�M ���'�.

cm =
1

L + 1

L∑
p=0

f(xp)e−imxp =
(f, φm)

(φm, φm)
.

"#��/0 ����� ���� cj�� eijxm��� G�H%��	, −k0 ≤ j ≤ k0 + θ�� �
��/0 �YH����� ST���'�.

k0+θ∑
j=−k0

cje
ijxm =

k0+θ∑
j=−k0

⎛⎝ 1
L + 1

L∑
p=0

f(xp)e−ijxp

⎞⎠ eijxm

=
1

L + 1

k0+θ∑
j=−k0

L∑
p=0

f(xp)e−ijxpeijxm
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%%%%%%%%%%%%%%%%%%%%%%%%%%%%% dft7.m %%%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; L=7;

if mod(L,2)==0

k0=L/2;

else

k0=(L-1)/2;

end

x=linspace(0,2*pi*L/(L+1),L+1); f=cos(2*x)+0.3*x.^2;

for j=1:L+1

c(j)=1/(L+1)*sum(f.*exp(-i*(j-1-k0)*x));

end

xx=linspace(0,2*pi,5*(L+1)+1); ff=0*xx;

for s=1:L+1

ff=ff+c(s)*exp(i*(s-1-k0)*xx);

end

plot([x,x(1)+2*pi],[f,f(1)],’ko’); hold on

plot(xx,real(ff),’k*-’,xx,imag(ff),’kd’)

set(gca,’xtick’,linspace(0,2*pi,5));

axis([0 2*pi -2 11]); legend(’f’,’real(f)’,’imag(f)’,2); grid

dft7.m��� �	
��6%�-�� 34#2G 10.2�� $�1�	� �&%����� ��>��� �� �
�'�.

dft8.m�	� >���� I"���� &��
����� >����%�19 �

�
�
 ��
 (L>� X������� ���(�)�� �
��� X"

)���.����� ��%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% dft8.m %%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; L=8;

if mod(L,2)==0

k0=L/2;

else
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dft8.m��� �	
��6%�-�� 34#2G 10.3�� $�1�	� �&%����� ��>��� �� �
�'�.

0 1.5708 3.1416 4.7124 6.2832
−2

0

2

4

6

8

10
f
real(f)
imag(f)

34#2G 10.3: L = 8��� ���(��
 >���� I"���� �YH��

34#2G 10.3��� =�-�� L>� X������� ���(��� ��.���
 ©̈��!"
��>� 0>� ()*��� ��� �� �
�'�.

�
� (10.2)��/0 '���(�� $�1>�  �����t,��� �"���� +�,�����=�-�� ©̈��!"
��>� GH��t,��� ��כ���

��� �� �
�'�.

cje
ijx + c−je

−ijx =
1

L + 1

L∑
p=0

f(xp)
(
e−ij(xp−x) + eij(xp−x)

)

=
2

L + 1

L∑
p=0

f(xp) cos j(xp − x)

|�T�/0 L>� X������� ���(������  �����"���� gL����� P<'�� �"�>� X����� $�m��	 �
�)� hi

/���� ©̈��!"
��>� 0>� ��� �� -9G�� $�T'�. %�m�!�� 34#2G 10.2��� =�-�� L>� n'o����� ���

(������ d�m�0�� �"��
 X��>� $�T)� hi/���� �����$� U�Fa��
���� ��כ��� ��� �� �
�'�. ���D�

(L + 1)/2 = 4�Y�
 X")���� $�m��	 �
�'�.

>�&������� X")���� 1�� $�@��� a&�GH ��.�� f�� g��� +�,�����=�J�.  
������ '���(�� $�1

>� ����
%�J�.
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|�T�/0 (������ '���(�� $�1>� Z�%����
' �� �
�'�.
j−k
L+1>� ������/% hi, q = 1>�����

(φj , φk) =
L∑

m=0

1 = L + 1.

>�'�. 4*�-���� j−k
L+1>� �����$� a�:	
 hi����� qL+1 = ei(j−k)2π = 1>� t,)� hi/����

(φj , φk) = 0

>�'�.

>�gL!",-��� ���.E I"���� �YH����/0��K�
 X"1���� ��.����� >���� I"���� �YH���� wx

1-2%���� �"��� �� �
��/0 +�,�����=�J�.

����� כ�$����< {x0, · · · , xL} "#��/0 כ�$��.�� f(xk)>� ����
t,1� �
�'��	 %�

J�. ��.�� f��� '���(�� $�1>� wx1-2��� �� �
�'�.

f(x) =
k0+θ∑

j=−k0

cje
i2πjx (10.3)

19)�/0 �YH���
 �������

cj =
(f, φj)
(φj , φj)

>��	, L>� X����>�-�� θ = 0>��	 k0 = L
2 , L>� n'o��>�-�� θ = 1 >��	 k0 = L−1

2 >�

'�.

"# �������� 2�����%�)� "#��/0��� −k0 ≤ m ≤ k0 + θ�� .E %���� �������
 m�� �
��

/0 �
� (10.3) 'N�&���� e−i2πmxp��� G�H%��	, x�� כ�$����< x0, x1, · · · , xL��� �
�/ ��� YZ �YH

����� ST���'�. 34
�-�� '���(�� $�1�	� �
���� ��>��� �� �
�'�.

L∑
p=0

f(xp)e−i2πmxp =
L∑

p=0

e−i2πmxp

k0+θ∑
j=−k0

cje
i2πjxp
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2�����>� #�������'�.

k0+θ∑
j=−k0

cje
i2πjxm =

1
L + 1

L∑
p=0

f(xp)ei2πk0(xp−xm)
L∑

s=0

ei2πxsme−i2πxsp

=
1

L + 1

L∑
p=0

f(xp)ei2πk0(xp−xm)(φm, φp)

=
1

L + 1
f(xm)(φm, φm) = f(xm).

MATLAB QRS���� ���;dM@�$� 1 !",- .����%����� '���(�� $�1>� �����
 ���;dM@����

&��
��%�-�� '���(�� $�1'�.

����� כ�$����< {x0, · · · , xL} "#��/0 כ�$��.�� f(xk)>� ����
t,1� �
�'��	 %�

J�. ��.�� f��� '���(�� $�1>� wx1-2��� �� �
�'�.

f(x) =
k0+θ∑

j=−k0

cje
i2πjx =

L+1∑
s=1

dse
i2π(s−1−k0)x (10.4)

19)�/0 �YH���
 �������

ds = cs−1−k0 =
(f, φs−1−k0)

(φs−1−k0 , φs−1−k0)

>��	, L>� X����>�-�� θ = 0>��	 k0 = L
2 , L>� n'o��>�-�� θ = 1 >��	 k0 = L−1

2 >�

'�.

dft77.m�	� >���� I"���� &��
����� >����%�19 �

�
�
 ��
 (L>� n'o����� ���(�)�� �
��� X"

)���.����� ��%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%%%%%%%%%%% dft77.m %%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; L=7;

if mod(L,2)==0

k0=L/2;

else
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)���.����� ��%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%%%%%%%%%%% dft88.m %%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; L=8;

if mod(L,2)==0

k0=L/2;

else

k0=(L-1)/2;

end

x=linspace(0,L/(L+1),L+1); f=cos(7*x)+10*x.^2;

for j=1:L+1

c(j)=1/(L+1)*sum(f.*exp(-i*2*pi*(j-1-k0)*x));

end

xx=linspace(0,L/(L+1),5*L+1); ff=0*xx;

for s=1:L+1

ff=ff+c(s)*exp(i*2*pi*(s-1-k0)*xx);

end

plot(x,f,’ko’,xx,real(ff),’k*-’,xx,imag(ff),’kd’)

axis([0 1 -2 11]); legend(’f’,’real(f)’,’imag(f)’,2); grid

dft88.m��� �	
��6%�-�� 34#2G 10.6�� $�1�	� �&%����� ��>��� �� �
�'�.

34#2G 10.6��/0 ��� �� �
���F>� L>� X����>�-�� ��.���
 ©̈��!"
��>� 0>� ()*��� �	���

�
�'�. >�&������� X")���� a�� $�@��� a&�GH ��.�� f�� g��� +�,�����=�J�.  
������ '���(��

$�1>� ����
%�J�.

כ�$����<

xk =
ak

L + 1
, k = 0, · · · , L

�� �
��/0 ��.�� f�� g�
  
����	�

(f, g) =
L∑

k=0

f(xk)g(xk)
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>�'�. 34���	 �������
 k�� �
��/0 φk(x) = ei 2πkx
a ��� �"����� $�@��� ��.�� ��$�% {φk}�	�

'���(�� $�1�	� ���4/%��� !��2S����'�.

(φj , φk) =

⎧⎪⎨⎪⎩
L + 1, j−k

L+1 >� �����

0, otherwise

"#�
 ���4/%��� =�>�)� "#��/0  
����
 ����
�� |�T� a�5��� $�1>� �YH���
 ������� �
��Y

%�J�.

(φj , φk) =
L∑

m=0

ei 2πjxm
a e−i 2πkxm

a =
L∑

m=0

ei(j−k) 2πm
L+1 =

L∑
m=0

(
ei(j−k) 2π

L+1

)m

34���	 <<��������� "#��/0 �YH���
 �"���� '���(�� $�1>� ����
���'�.

q = ei(j−k) 2π
L+1

34
�-�� )�%� �YH���
 �
!�� �
��/0 '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

(φj , φk) =
qL+1 − 1

q − 1

|�T�/0 (������ '���(�� $�1>� Z�%����
' �� �
�'�.
j−k
L+1>� ������/% hi, q = 1>�����

(φj , φk) =
L∑

m=0

1 = L + 1.

>�'�. 4*�-���� j−k
L+1>� �����$� a�:	
 hi����� qL+1 = ei(j−k)2π = 1>� t,)� hi/����

(φj , φk) = 0

>�'�.

>�gL!",-��� ���.E I"���� �YH����/0��K�
 X"1���� ��.����� >���� I"���� �YH���� wx

1-2%���� �"��� �� �
��/0 +�,�����=�J�.
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'���(���� "#��/0 ����� ���� cj�� ei 2πjxm
a ��� G�H%��	, −k0 ≤ j ≤ k0 + θ�� �
��/0 �YH

����� ST���'�.

k0+θ∑
j=−k0

cje
i 2πjxm

a =
k0+θ∑

j=−k0

⎛⎝ 1
L + 1

L∑
p=0

f(xp)e−i
2πjxp

a

⎞⎠ ei 2πjxm
a

=
1

L + 1

k0+θ∑
j=−k0

L∑
p=0

f(xp)e−i
2πjxp

a ei 2πjxm
a

��3��/0�� $�1>� s = j + k0�� 2k0 + θ = L��� >�������'�.

k0+θ∑
j=−k0

cje
i 2πjxm

a =
1

L + 1

L∑
s=0

L∑
p=0

f(xp)e−i
2π(s−k0)xp

a ei
2π(s−k0)xm

a

=
1

L + 1

L∑
p=0

f(xp)ei
2πk0(xp−xm)

a

L∑
s=0

ei 2πsxm
a e−i

2πsxp
a

34���	 sxm = s2πm/(L + 1) = m2πs/(L + 1) = mxs�

��� >����%�-�� '���(�� $�1>�

2�����>� #�������'�.

k0+θ∑
j=−k0

cje
i 2πjxm

a =
1

L + 1

L∑
p=0

f(xp)ei
2πk0(xp−xm)

a

L∑
s=0

ei 2πmxs
a e−i 2πpxs

a

=
1

L + 1

L∑
p=0

f(xp)ei
2πk0(xp−xm)

a (φm, φp)

=
1

L + 1
f(xm)(φm, φm) = f(xm).

MATLAB QRS���� ���;dM@�$� 1 !",- .����%����� '���(�� $�1>� �����
 ���;dM@����

&��
��%�-��

����� כ�$����< {x0, · · · , xL} "#��/0 כ�$��.�� f(xk)>� ����
t,1� �
�'��	 %�

J�. ��.�� f��� '���(�� $�1>� wx1-2��� �� �
�'�.

f(x) =
k0+θ∑

j=−k0

cje
i 2πjx

a =
L+1∑
s=1

dse
i
2π(s−1−k0)x

a (10.6)
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34#2G 10.8: L = 7��� ���(��
 >���� I"���� �YH��

%%%%%%%%%%%%%%%%%%%%%%%%%%%%% dft888.m %%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc; clf; a=2; L=8;

if mod(L,2)==0

k0=L/2;

else

k0=(L-1)/2;

end

x=linspace(0,a*L/(L+1),L+1); f=cos(7*x)+2*x.^2;

for j=1:L+1

c(j)=1/(L+1)*sum(f.*exp(-i*2*pi*(j-1-k0)*x/a));

end

xx=linspace(0,a*L/(L+1),5*L+1); ff=0*xx;

for s=1:L+1

ff=ff+c(s)*exp(i*2*pi*(s-1-k0)*xx/a);
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"# /��gL��� Ω = (0, 2)�
 ���������� ;<�L����
 ��
>� n'o�� �Y�
 ����� $�m�;<%&� ���

������ ��/0 X")�$� 2��� X")� ��.����� !��'��'�. 2��

ut(x, t) = uxx(x, t) on Ω = (0, 2), (10.10)

u(x, 0) = f(x) on Ω = (0, 1), (10.11)

u(x, 0) = −f(x − 1) on Ω = (1, 2). (10.12)

xp =
2p

Nx + 1
, p = 0, · · · , Nx

Nx��� n'o��>��	 h = 2/(Nx + 1) >�'�. 12���� $�%�"�����
� (10.10)��� ��.3+���� (:��� 2�
��

�� ��� >����%�19 ��V� 
-�� '���(�� $�1'�.

un+1
p − un

p

Δt
=

un+1
p+1 − 2un+1

p + un+1
p−1

h2
,

2��

un+1
p

Δt
− un+1

p+1 − 2un+1
p + un+1

p−1

h2
=

un
p

Δt
. (10.13)

x�� �
��� ��.�� u�
 12���� >���� I"���� &��
���� ���&��
���	� '���(�� $�1'�.

ûj =
1

Nx + 1

Nx∑
p=0

upe
−iπjxp ,

up =
k0+1∑

j=−k0

ûje
iπjxp , (10.14)

19)�/0 k0 = (Nx − 1)/2, xp+1 = xp + h, xp−1 = xp − h >�'�. �
� (10.13)�� �
�

(10.10)��� �
�/ %�-��

ûn+1
j

(
1

Δt
− eiπhj − 2 + e−iπhj

h2

)
=

ûn
j

Δt

>� ���'�. >���� ������D� �����%�-�� '���(�� $�1�	� �
���� ��>��� �� �
�'�.

ûn+1
j

(
1

Δt
− 2 cos(πhj) − 2

h2

)
=

ûn
j

Δt
.
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34#2G 10.10: 12���� $�%�"�����
��
 ��������� ������.



11���

CG, Bi-CG, and Bi-CGSTAB

�� 1 ��� Conjugate Gradient(CG) �����


CG �"��� �	� n × n 'N������(positive definite) ����������� ,
�3� b��)� "#�� �	���t,���'�.

CG�"��� ���>�������������%�)�"#��/0��� Gauss elimination with pivoting��K�
 n���

�������ª«a~%�m�!��>�=�'������Fכ%/���������5	�%�)�hi/�����/%4*���������������>�

������'�. 34
��� CG�"��� �	���
����	��gL��/02S�2S��/כ�$������� large sparse systems

with nonzero entries occurring in predictable patterns���b��)�"#����(�(:���%�'�.

���3�%��� �<JN�>� X"1����'�-��, CG �"��� ��� >������
√

n����� !���� ���3�%��� 
��8����כ�$ ��>

��� �� �
�'�.

>� 3�%��/0 ��6� 8 A��� 'N������(0>� a�3�� 	��,- x�� �
��/0 〈x, Ax〉 > 0, A��� �
($�)T�

�	 $�������'�. 34���	 x�� y$� n2���� 	��,-�/% hi,  
������ '���(�� $�1>� ����
���'�.

〈x,y〉 = xty (11.1)

34
�-�� xtAy = xtAty = (Ax)ty>�����

〈x, Ay〉 = 〈Ax,y〉 (11.2)

$� ���-I ���'�. a�5� �&%����� CG �"��� ��� (:;<%�)� "#��� )���������� �����>�'�.

193
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>����-I ���'�. 34
����� 〈v,b−Ax〉 �= 0�/%hi 0>�a�3��	��,- v���
��/0 g(x+t̂v) <

g(x)$����-I ���'�. x∗$�Ax∗ = b���!��2S����'��	$����%�J�. 34
�-��1�¬¤���	��,- v��

�
��/0;< 〈v,b − Ax∗〉 = 0$� ���-I %��	, >���� g(x)$� g(x∗)=�'� ���a�4/% �� $�T��(���

�
A����'�. 34
����� x∗�/% hi g��� s).EF$כ���� $�@���'�.

4*��
�� x∗$� g��� $���� ����M !��S���� 	��,-T��	 $����%�J�. 34
�-�� 1�¬¤��� 	��,- v��

�
��/0;< g(x∗ + t̂v) ≥ g(x∗)$� ���-I ���'�. 34
����� 〈v,b − Ax∗〉��� 0>� t,�	, >�

��� b − Ax∗��� h�F���'�. �

Ax∗ = b�
 
��8��� x�� x��/0 =�'� z{ ���	� 
��8������
 �"��X���� �
A�%���� V=>

+AM �"��X�(search direction) 	��,-v �= 0��� +�,���%�J�. r = b−Ax��� x�� �
��� W��2� 	��

,-(residual vector associated with x)�� ����
%��	, t��� '���(�� $�1>� ����
���'�.

t =
〈v,b − Ax〉
〈v, Av〉 =

〈v, r〉
〈v, Av〉

!��'(� r �= 0>��	 v = rT�-��, g(x + tr)��� g(x)=�'� ����	� ���כ�$ $�m��	 >���� x=�'�

x∗�� $�E�D'���� ��כ��� �
A����'�. >���� >������/0 (������ CG �"��� ��� (:;<�
' �� �
�'�.

x0$� x∗�
 *+)� 
��8�,	��<כ�$ v(1) �= 0$� *+)� V=>+AM �"��X�>�T��	 $����%�J�. k =

1, 2, 3, ...,�� �
��/0

tk =
〈v(k),b − Ax(k−1)〉

〈v(k), Av(k)〉 (11.4)

x(k) = x(k−1) + tkv(k) (11.5)

��������%��	,ZY��)��V=>+AM�"��X� v(k+1)���J9K���'�. >��"��� ���>������/0 x∗��
��8�t,

�����$�% {xk}���J9K������
�'�. V=>+AM�"��X����J9K)�"#��/0 g��� x = (x1, x2, ..., xn)t��

�
��� ��.��T��	 +�,���%�J�. 34
�-��

g(x1, x2, ..., xn) = 〈x, Ax〉 − 2〈x,b〉 =
n∑

i=1

n∑
j=1

aijxixj − 2
n∑

i=1

xibi

$� ���-I ���'�. g��� xk�� �
��/0 A�
��%�-��

∂g

∂xk
(x) = 2

n∑
i=1

akixi − 2bk
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(2�����) P<'�� k = 1, 2, ..., n�� �
��/0 x(k) = x(k−1) + tkv(k)>�)� hi/����,

Ax(n) = Ax(n−1) + tnAv(n)

= (Ax(n−2) + tn−1Av(n−1)) + tnAv(n)

...

= Ax(0) + t1Av(1) + t2Av(2) + ... + tnAv(n)

��� ��>��� �� �
��	, 'N�&���� b��� ef#����£¤ '���( �
���� ��>��� �� �
�'�.

Ax(n) − b = Ax(0) − b + t1Av(1) + t2Av(2) + ... + tnAv(n)

'N�&���� v(k)�� �
���  
������ �����%�-��,  
����
 ���4/%�� A$� �
($�>�T���� 8��	
��!",-

'���(�� $�1�	� �
���� ��>��� �� �
�'�.

〈Ax(n) − b,v(k)〉 = 〈Ax(0) − b,v(k)〉 + t1〈Av(1),v(k)〉 + ... + tn〈Av(n),v(k)〉
= 〈Ax(0) − b,v(k)〉 + t1〈v(1), Av(k)〉 + ... + tn〈v(n), Av(k)〉

��� k�� �
��/0 A-,
����
 ���4/%��� ������.���-��,

〈Ax(n) − b,v(k)〉 = 〈Ax(0) − b,v(k)〉 + tk〈v(k), Av(k)〉 (11.6)

>� ���'�. O<���,

tk =
〈v(k),b − Ax(k−1)〉

〈v(k), Av(k)〉

>�)� hi/����,

tk〈v(k), Av(k)〉 = 〈v(k),b − Ax(k−1)〉
= 〈v(k),b − Ax(0) + Ax(0) − Ax(1) + ... − Ax(k−2) + Ax(k−2) − Ax(k−1)〉
= 〈v(k),b − Ax(0)〉 + 〈v(k), Ax(0) − Ax(1)〉 + ... + 〈v(k), Ax(k−2) − Ax(k−1)〉

�� p�" �� �
�'�. P<'�� i�� �
%�19

x(i) = x(i−1) + tiv(i) and Ax(i) = Ax(i−1) + tiAv(i)



gL 1 3�% CONJUGATE GRADIENT(CG) �"��� 199

'���(�	� CG �"��� ��� >����%���� �fgL�� 34�� �
��� MATLAB QRS�>�'�.

����

X"1���� �������� Ax = b�
 ����� l∞ − norm��/0�
 U<NW$� 10−4=�'� ���a�m��M


��8�%�19T�.

ai,j =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

4, when j = i and i = 1, 2, ..., 16,

−1, when

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

j = i + 1 and i = 1, 2, 3, 5, 6, 7, 9, 10, 11, 13, 14, 15,

j = i − 1 and i = 2, 3, 4, 6, 7, 8, 10, 11, 12, 14, 15, 16,

j = i + 4 and i = 1, 2, ..., 12,

j = i − 4 and i = 5, 6, ..., 16,

0, otherwise

and

b = (1.90, 1.05, 1.17, 3.48, 0.81,−0.26,−0.41, 1.17, 0.91,−0.15,

−0.26, 1.05, 1.96, 0.91, 0.81, 1.90)

preconditional matrix��� A�
�
�����6� 8D���
��/0'���(��$�1>�����
�����6� 8���

8�������'�.

M−1 = D−1/2

%%%%%%%%%%%%%%%%%%%%%%%%%%%% CGcode.m %%%%%%%%%%%%%%%%%%%%%%%%%%%

clear; clc;

for i=1:16

for j=1:16
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CGcode.m��� �	
��6.���-�� '���(�� $�1�	� �&%����� ��>��� �� �
�'�.

>> CGcode

res

0.9607 1.0393 0.4626 0.1188 0.0551 0.0346

0.0024 0.0006 0.0000

�� 2 ��� Biconjugate gradient stable(Bi-CG) �����


Bi-CG(biconjugate gradient stable)�"��� �	� �������� Ax = b��� b��)� "#��� �"��� >�

'�. CG�"��� �����'�v7�M��6� 8 A$��
�$Fכ%/%5/��$)$�T'�. �
���:&%e­�
���(conjugate

transpose) ��6� 8 A∗$� 8�������'�. Bi-CG �"��� �
 ����	��2�(�	� '���(�� $�1'�.

Bi-CG cycle

Define the maximum number of iteration ITER and the error tolerance TOL

Set r0 = b − Ax0, r∗0 = b∗ − x∗0A,p0 = M−1r0,p∗0 = r∗0M−1

Set k = 1

While (k ≤ ITER & ‖rk‖2 > TOL)

αk =
r∗kM−1rk

p∗kApk

xk+1 = xk + αpk

x∗k+1 = x∗k + ᾱp∗k

rk+1 = rk − αApk

r∗k+1 = r∗k + ᾱp∗kA

βk =
r∗k+1M−1rk+1

r∗kM−1rk

pk+1 = M−1rk+1 + βkpk

p∗k+1 = r∗k+1M−1 + β̄kp∗k

k = k + 1

End While
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p = M*newr+beta*p;

r = newr;

tol = max(abs(b-A*x));

res(i) = tol;

i = i+1;

end

>> BiCGcode

res

1.9656 1.0748 1.0115 0.7852 0.1408 0.0332

0.0165 0.0061 0.0012 0.0002 0.0001

�� 3 ��� Biconjugate gradient stable(Bi-CGSTAB) �����


$�%�"�����
��� �
��� 
��8������ BI-CGSTAB(biconjugate gradient stable) �"��� ��� >����

%�19 ���� =�J�. Bi-CGSTAB �"��� �
 ����	��2�(�	� '���(�� $�1'�.

Bi-CGSTAB cycle

Define the maximum number of iteration ITER and the error tolerance TOL

Set r0 = b − Au0, r̂0 = r0, ρ0 = α = ω0 = 1,v0 = p0 = 0

Set k = 1

While (k ≤ ITER & ‖rk‖2 > TOL)

ρk =
N∑

j=1

r̂0
j r

k−1
j , β = (ρk/ρk−1)(α/ωk−1)

pk = rk−1 + β(pk−1 − ωk−1vk−1)

vk = Apk

α = ρk/
N∑

j=1

r̂0
j v

k
j

s = rk−1 − αvk
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BI-CGSTAB �"��� ��� >����%�19 ��.3+������� �"��� ���� $�%�"�����
��
 ����� ����=�J�.

un+1
ij − un

ij

Δt
=

un+1
i+1,j + un+1

i−1,j − 4un+1
ij + un+1

i,j+1 + un+1
i,j−1

h2
,

2��

(1 + 4α)un+1
ij − α(un+1

i+1,j + un+1
i−1,j + un+1

i,j+1 + un+1
i,j−1) = un

ij . (11.7)

�
� (11.7)��� �����%�)� "#�� zero-Neumann ����� �<JN���� 8����%�;<%&� %�J�. 2��

u0,j = u1,j , uNx+1,j = uNx,j , ui,0 = ui,1, ui,Ny+1 = ui,Ny

�f��� !�"1� Nx = Ny = 3�
 ���(���� ����� �<JN���� 8����%�19 u$כ���� ��������X"-�� 34#2G

11.1��$�1'�. BI-CGSTAB�"��� ���>����%�)�"#��/0���	��,- u�� b����V� 
a~%���

��34#2G 11.2��$�1>� u�
Q��/0��� �̀��$�%���'�. ������<JN��� �̀��$�%��� u��� Au = b�


������� ��V� 
-�� '���(�� $�1'�.

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

1 + 2α −α 0 −α 0 0 0 0 0

−α 1 + 3α −α 0 −α 0 0 0 0

0 −α 1 + 2α 0 0 −α 0 0 0

−α 0 0 1 + 3α −α 0 −α 0 0

0 −α 0 −α 1 + 4α −α 0 −α 0

0 0 −α 0 −α 1 + 3α 0 0 −α

0 0 0 −α 0 0 1 + 2α −α 0

0 0 0 0 −α 0 −α 1 + 3α −α

0 0 0 0 0 −α 0 −α 1 + 2α

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
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A(i,i)=1.0+4.0*alpha;

end

for i=1:nx

A(i,i)=A(i,i)-alpha;

A(nx*(ny-1)+i,nx*(ny-1)+i)=A(nx*(ny-1)+i,nx*(ny-1)+i)-alpha;

end

for i=1:ny

A(1+nx*(i-1),1+nx*(i-1))=A(1+nx*(i-1),1+nx*(i-1))-alpha;

A(nx*i,nx*i)=A(nx*i,nx*i)-alpha;

end

for i=1:nxy-1

A(i,i+1)=-alpha; A(i+1,i)=-alpha;

end

for i=1:ny-1

A(nx*i,nx*i+1)=0.0; A(nx*i+1,nx*i)=0.0;

end

for i=1:nx*(ny-1)

A(i,i+nx)=-alpha; A(i+nx,i)=-alpha;

end

for k=1:M+1

% input data for right hand side

for j=1:ny

for i=1:nx

b(i,j)=u(i,j);

end

end

% ordering for u

for j=1:ny

for i=1:nx
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omegam = omega;

iu = iu + alpha*p + omega*s;

r = s’ - omega*t;

iter = iter +1

max(abs(r))

if (iter == max_iter)

flag = 1;

break

end

end

for j=1:ny

for i=1:nx

u(i,j)=iu(nx*(j-1)+i);

end

end

end

for i=1:nx

for j=1:ny

esol(i,j)=cos(2*pi*x(i))*cos(2*pi*y(j))...

*exp(-8*pi^2*time(M+1));

nsol(i,j)=u(i,j);

end

end

mesh(xx,yy,nsol)

axis([0 1 0 1 -1 1])

colormap([0 0 0])

bi_cg_stab_heat.m����	
��6%�-��34#2G 11.3��$�1�	��&%�������>������
�'�. ��6� 8 A�


l�)�$�§�4/%��%&���6� 8�
FGH��/0כ 0>�2�m�%����?�>�T>�§����'�. |�T�/0��O��������

�������� "#�� ��6� 8 A ��� '���(�� $�1>� (nxy × 5) ��6� 8�� 3+�'(�%�19 ��V� 
J�.
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AA =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

0 0 1 + 2α −α −α

0 −α 1 + 3α −α −α

0 −α 1 + 2α 0 −α

−α 0 1 + 3α −α −α

−α −α 1 + 4α −α −α

−α −α 1 + 3α 0 −α

−α 0 1 + 2α −α 0

−α −α 1 + 3α −α 0

−α −α 1 + 2α 0 0

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
bi_cg_stab_heat1.m�	� ��6� 8 A��� (nxy × 5) ��6� 8�� 3+�'(�%�19 ��.3+������� �"��� ����

$�%�"�����
��
 ����� ��%���� MATLAB QRS�>�'�.

%%%%%%%%%%%%% bi_cg_stab_heat1.m %%%%%%%%%%%%%

clear; clc; clf; nx=32; ny=32; nxy=nx*ny; h=1/nx;

x=linspace(0.5*h,1-0.5*h,nx); y=linspace(0.5*h,1-0.5*h,ny);

[xx,yy]=meshgrid(x,y);

M=100; time=linspace(0,0.005,M+1); dt=time(2)-time(1);

alpha=dt/(h^2);

for i=1:nx

for j=1:ny

u(i,j)=cos(2*pi*x(i))*cos(2*pi*y(j));

end

end

% input data for matrix

A=zeros(nxy,5);
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for k=1:M+1

% input data for right hand side

for j=1:ny

for i=1:nx

b(i,j)=u(i,j);

end

end

% ordering for u

for j=1:ny

for i=1:nx

iu(nx*(j-1)+i)=u(i,j);

end

end

% ordering for b

for j=1:ny

for i=1:nx

bt(nx*(j-1)+i)=b(i,j);

end

end

iter = 0; % initialization

flag = 0;

tol = 1.0e-10;

max_iter = 500;

r = bt’ - Ax(A,iu,nx,ny,nxy); % compute first residual

r_hat = r;

rhom = 1.0; alpha = 1.0; omegam = 1.0;

v = 0.0; p = 0.0;
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end

for i=1:nx

for j=1:ny

esol(i,j)=cos(2*pi*x(i))*cos(2*pi*y(j))...

*exp(-8*pi^2*time(M+1));

nsol(i,j)=u(i,j);

end

end

mesh(xx,yy,nsol)

axis([0 1 0 1 -1 1])

colormap([0 0 0])

function ax=Ax(A,x,nx,ny,nxy)

for i=1:1

ax(i,1)=A(i,3)*x(i)+A(i,4)*x(i+1)+A(i,5)*x(i+nx);

end

for i=2:nx

ax(i,1)=A(i,2)*x(i-1)+A(i,3)*x(i)+A(i,4)*x(i+1)+A(i,5)*x(i+nx);

end

for i=nx+1:nxy-nx

ax(i,1)=A(i,1)*x(i-nx)+A(i,2)*x(i-1)+A(i,3)*x(i)...

+A(i,4)*x(i+1)+A(i,5)*x(i+nx);

end

for i=nxy-nx+1:nxy-1

ax(i,1)=A(i,1)*x(i-nx)+A(i,2)*x(i-1)+A(i,3)*x(i)+A(i,4)*x(i+1);

end

for i=nxy:nxy

ax(i,1)=A(i,1)*x(i-nx)+A(i,2)*x(i-1)+A(i,3)*x(i);

end



12���

Fractional step method

�/%4*�������� 12������� I"��� �"��� �� N���� '�2���� /��gL��� I"��� ���(���� ��.3+���� (:��� 2�


���� (Implicit FDM) O<��� l�5�6l�-&�4�"5�� (:��� 2�
���� (Crank-Nicholson FDM)���

8����%�-�� ���-I �"�����
���� I"���_̂  ��8����� �����.������� ��Fכ%/5 %��M ���'�. >�
���� /��

gL��
��� ���&%%���� �"��� !�" >�T %���$� Operator Splitting �"��� >�'�. Time splitting

O<��� Fractional step �"��� >�T� P����(���� operator splitting�
 )���� a�>���1���� '�

��(�� $�1'�.

'���(�
 *+)��� /��gL$� �
�'��	 $����%�J�.
∂u

∂t
= Lu

19)�/0 L�	� operator>���, >���כ�	� u�� �
%�19 m�Y�
 �������&%�
!���� '�.� p�" �� �
�

'��	 $����%�J�.

Lu = L1u + L2u + · · · + Lmu.

O<��� m�Y�
 operator �������� �
%�19 time step n!",- n + 1��m� &���� u��� $� _̂>�

p7%���� scheme��� ����	 �
�'��	 $����%�J�. 2��

un+1 = U1(un, Δt),

un+1 = U2(un, Δt),

· · ·
un+1 = Um(un, Δt).

217
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��� �����/0��� Fractional step �"��� >�T }� $�m� �"��� �� �
�� GH�Y%��	J� ���'�.

�� 1 ��� Alternating Direction Implicit (ADI) Method

>�gL 22����$�%�"�����
��

��8������ ADI�"��� ���>����%�19b��1�=�;<%&�%�J�. ADI�"�

�� �
 )���� a�>���1���� �������
 �������/0 ��� ������J��� �
��/0!�� ��.3+�������� ���&%%�

��� ��כ>�'�. 22���� $�%�"�����
��� ���������'�-�� '���(�
 }� ������� ��u�1� Z�%����
' �� �
�

'�.

u
n+ 1

2
ij − un

ij

Δt
= Lx

ADIu
n+ 1

2
ij , (12.3)

un+1
ij − u

n+ 1
2

ij

Δt
= Ly

ADIu
n+1
ij , (12.4)

19)�/0 2�
��������J� Lx
ADI�� Ly

ADI��� '���(�� $�1>� ����
���'�.

Lx
ADIu

n+ 1
2

ij =
1
2

u
n+ 1

2
i+1,j − 2u

n+ 1
2

ij + u
n+ 1

2
i−1,j

h2
+

1
2

un
i,j+1 − 2un

ij + un
i,j−1

h2
, (12.5)

Ly
ADIu

n+1
ij =

1
2

u
n+ 1

2
i+1,j − 2u

n+ 1
2

ij + u
n+ 1

2
i−1,j

h2
+

1
2

un+1
i,j+1 − 2un+1

ij + un+1
i,j−1

h2
. (12.6)

}� �"�����
� (12.3)�� (12.4)��� �
!%�-�� '���( �
� (12.7)��� ��>�M t,��, >���כ>� s)2S�

������� ADI�"��� ��� ������%�-�� b���M t,��� �
�>�'�.

un+1
ij − un

ij

Δt
= Lx

ADIu
n+ 1

2
ij + Ly

ADIu
n+1
ij . (12.7)

ADI�"��� �	� '���(�
 ����	��2�(���� Z�%������'�.

Algorithm ADI

• Step 1: ADI �"��� �
 (+� �������, �
� (12.5)�	� '���(�� $�1>� '�.� ]�194/% �� �
�

'�.

αiu
n+ 1

2
i−1,j + βiu

n+ 1
2

ij + γiu
n+ 1

2
i+1,j = fij , (12.8)
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• Step 2: �
� (12.6)���
��X"1���� ADI�"��� �
}�&���i��������'���(��$�1>�'�

.� ]�194/% �� �
�'�.

αju
n+1
i,j−1 + βju

n+1
ij + γju

n+1
i,j+1 = gij , (12.11)

19)�/0,

αj = − 1
2h2

, βj =
1

Δt
+

1
2h2

, γj = − 1
2h2

, (12.12)

gij =
u

n+ 1
2

ij

Δt
+

1
2

u
n+ 1

2
i+1,j − 2u

n+ 1
2

ij + u
n+ 1

2
i−1,j

h2
. (12.13)

i$� �	������ ���(�, 	��,- un+1
i,1:Ny

��� '���(�
  �F>�T�
�����6� 8 .�@���#��� b��1�/0 ��>���

�� �
�'�.

Ayu
n+1
i,1:Ny

= gi,1:Ny ,

>�hi Ay ��6� 8�	�  �F>�T�
�����6� 8��£¤ '���(�� $�1'�.

Ay =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

2α1 + β1 −α1 + γ1 0 . . . 0 0

α2 β2 γ2 . . . 0 0

0 α3 β3 . . . 0 0

...
...

. . . . . . . . .
...

0 0 0 . . . βNy−1 γNy−1

0 0 0 . . . αNy − γNy βNy + 2γNy

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
.

Step 1��?�.�F%��M Step 2��/0����	������ x-�"��X����
%�19 y-�"��X��
N"67�����

��6%��M ���'�.
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y(j) = (j-1.5)*h;

end

%%% initial condition %%%

for i = 2:Nx+1

for j = 2:Ny+1

u(i,j) = sin(pi*x(i))*sin(pi*y(j));

end

end

% linear boundary condition

u(1,:) = 2.0*u(2,:) - u(3,:);

u(Nx+2,:) = 2.0*u(Nx+1,:) - u(Nx,:);

u(:,1) = 2.0*u(:,2) - u(:,3);

u(:,Ny+2) = 2.0*u(:,Ny+1) - u(:,Ny);

% draw mesh (initial u)

figure(1);

[xx yy] = meshgrid(x,y);

mesh(xx,yy,u); grid on; axis tight

xlabel(’X’,’FontSize’,18); ylabel(’Y’,’FontSize’,18);

zlabel(’u(x,y,0)’,’FontSize’,18);

title(’2D Heat equation(initial condtion)’,’FontSize’,20);

hold on

%%% update old_u %%%

old_u = u;

%%% analytic solution (T=0.1) %%%

exact_u = u;

for i = 1:Nx+2

for j = 1:Ny+2

exact_u(i,j) = sin(pi*x(i))*sin(pi*y(j))*exp(-2.0*pi^2*T);

end
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u(2:Nx+1,j) = inv(Ax)*bx’;

end

% linear boundary condition

u(1,:)=2.0*u(2,:)-u(3,:); u(Nx+2,:)=2.0*u(Nx+1,:)-u(Nx,:);

u(:,1)=2.0*u(:,2)-u(:,3); u(:,Ny+2)=2.0*u(:,Ny+1)-u(:,Ny);

%%% update old_u %%%

old_u = u;

%%% 2nd step (y-direction) %%%

% make Ay matrix

for j = 1:Ny

Ay(j,j) = 1/k + 1/h^2;

end

for j = 2:Ny

Ay(j-1,j) = -0.5/h^2;

Ay(j,j-1) = -0.5/h^2;

end

% applying linear boundary condition

Ay(1,1) = 1/k; Ay(Ny,Ny) = 1/k;

Ay(1,2) = 0.0; Ay(Ny,Ny-1) = 0.0;

% make by matrix

for i = 2:Nx+1

for j = 2:Ny+1

by(j-1) = old_u(i,j)/k ...

+ 0.5*(old_u(i+1,j)-2*old_u(i,j)+old_u(i-1,j))/h^2;

end

% Solve Ay*U=by

u(i,2:Ny+1) = inv(Ay)*by’;

end

% linear boundary condition
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34#2G 12.2: (a) t = 0.1�/% hi, ADI�� �
��� 22���� $�%�"�����
��
 �����&%��. (b) t =

0.1�/% hi, 22���� $�%�"�����
��
 ��������� ADI�� �
��� �����&%�� 2�>�.

�� 2 ��� Operator Splitting (OS) Method

OS �"��� �
 �YUH
�	� b���	J� %���� /��gL��� 12�����
 ������J��� ®<�Y1� �������
 .���� ���

�?���/0 �����%���� �"��� ���� ADI�"��� ����� '(���� '�v7�M �����t,��� �"��� >�'�. ��� 3�%

��/0;< OS�"��� �
 >������ !��)� "#�� 22���� $�%�"�����
���� �	
��� =�J�. (+� &���i �����

��/0��� x�� "���̂���� ������J���� ��.3+�������� b���	, }� &���i �������/0��� y�� "���̂���� ���

���J���� ���&%%�-�� ���'�.

OS �"��� �� �
�� 22���� $�%�"�����
���� I"��� �
��� ������	� '���(�� $�1'�.

u
n+ 1

2
ij − un

ij

Δt
= Lx

OSu
n+ 1

2
ij , (12.14)

un+1
ij − u

n+ 1
2

ij

Δt
= Ly

OSun+1
ij , (12.15)

19)�/0 �������
 2�
��������J� Lx
OS�� Ly

OS�	� '���(�� $�1>� ����
���'�.
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�
�����6� 8��� h�F���'�. 2��

Ax =

⎛⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎜⎝

2α1 + β1 γ1 − α1 0 . . . 0 0

α2 β2 γ2 . . . 0 0

0 α3 β3 . . . 0 0

...
...

. . . . . . . . .
...

0 0 0 . . . βNx−1 γNx−1

0 0 0 . . . αNx − γNx βNx + 2γNx

⎞⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎟⎠
.

|�T�/0 OS�"��� �
 Step 1�	��	������ y-�"��X����
%�19'���(�
 x-�"��X�N"67���.�

��6���'�.

for j = 1 : Ny

for i = 1 : Nx

Set αi, βi, γi, and fij by Eq. (12.18)

end

Solve Axu
n+ 1

2
1:Nx,j = f1:Nx,j by using the Thomas algorithm

end

• Step 2: '���(���� �
� (12.15)��� '���(�� $�1>� '�.� p�" �� �
�'�.

αju
n+1
ij−1 + βju

n+1
ij + γju

n+1
ij+1 = gij , (12.18)

19)�/0

αj = − 1
h2

, βj =
1

Δt
+

2
h2

, γj = − 1
h2

, gij =
u

n+ 1
2

ij

Δt
.

i$� �	������ ���(�, 	��,- un+1
i,1:Ny

��� '���(�
  �F>�T�
�����6� 8 .�@���#��� b��1�/0 ��>���

�� �
�'�.

Ayu
n+1
i,1:Ny

= gi,1:Ny ,
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T=0.1; Nt=100; dt=T/Nt; alpha = dt/h^2;

% initalization

Ax(1:Nx, 1:Nx) = 0.0; Ay(1:Ny, 1:Ny) = 0.0;

bx(1:Nx) = 0.0; by(1:Ny) = 0.0;

u(1:Nx+2,1:Ny+2) = 0.0; old_u = u;

% x and y points (cell centered grid)

for i = 1:Nx+2

x(i) = (i-1.5)*h;

end

for j = 1:Ny+2

y(j) = (j-1.5)*h;

end

%%% initial condition %%%

for i = 2:Nx+1

for j = 2:Ny+1

u(i,j) = sin(pi*x(i))*sin(pi*y(j));

end

end

% linear boundary condition

u(1,:)=2.0*u(2,:)-u(3,:); u(Nx+2,:)=2.0*u(Nx+1,:)-u(Nx,:);

u(:,1)=2.0*u(:,2)-u(:,3); u(:,Ny+2)=2.0*u(:,Ny+1)-u(:,Ny);

% draw mesh (initial u)

figure(1); [xx yy] = meshgrid(x,y);

mesh(u); grid on; axis tight

xlabel(’X’,’FontSize’,18); ylabel(’Y’,’FontSize’,18);

zlabel(’u(x,y,0)’,’FontSize’,18);

title(’2D Heat equation(initial condtion)’,’FontSize’,20);

hold on

%%% update old_u %%%
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for i = 2:Nx+1

bx(i-1) = old_u(i,j);

end

% Solve Ax*U=bx

u(2:Nx+1,j) = inv(Ax)*bx’;

end

% linear boundary condition

u(1,:)=2.0*u(2,:)-u(3,:); u(Nx+2,:)=2.0*u(Nx+1,:)-u(Nx,:);

u(:,1)=2.0*u(:,2)-u(:,3); u(:,Ny+2)=2.0*u(:,Ny+1)-u(:,Ny);

%%% update old_u %%%

old_u = u;

%%% 2nd step (y-direction) %%%

% make Ay matrix

for j = 1:Ny

Ay(j,j) = 1 + 2.0*alpha;

end

for j = 2:Ny

Ay(j-1,j) = -alpha;

Ay(j,j-1) = -alpha;

end

% applying linear boundary condition

Ay(1,1)=1.0; Ay(Ny,Ny)=1.0; Ay(1,2)=0.0; Ay(Ny,Ny-1)=0.0;

% make by matrix

for i = 2:Nx+1

for j = 2:Ny+1

by(j-1) = old_u(i,j);

end

% Solve Ay*U=by

u(i,2:Ny+1) = inv(Ay)*by’;
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Operator Splitting (OS) Method, 227

pie, 36

plot3, 37

polar, 34

positive definite, 193

preconditional matrix, 199

quiver, 43

residual vector, 195

Runge-Kutta �"��� , 111

search direction vector, 195

Secant �"��� , 76

Simpson �"��� , 98

stair, 35

steepest descent �"��� , 80

Taylor�
 �����, 124

$�>�T W��19(weighted residual) �"��� , 154

������(strong formulation), 155

����� 345�67, 35

��
������������.E ������.�;<��.��(piecewise

continuous trial function), 154

��
����������������.��(piecewise linear func-

tion), 154

345������p7(Gradient), 43

 _8�Bwx ����
��
 345�67, 34

'�&���� u:[�� �"��� , 78

0���
 345�67, 34

���Y &���� �"�����
�, 44

h	�,-���(Vector Field), 43

?������� shooting �"��� , 119

8�'���d$e �"��� (trapezoidal rule), 95

 �F2� @�[��T���� =������ , 59

������ shooting �"��� , 116

������ P<'N� ��.��(linear shape function),

155

.�;< ��.��(trial function), 154

.��VG ��.��(test function), 154

'(����(weak formulation), 155

'N������, 193

���-I �/%2� A�
���"�����
�, 112

FGHכ ��6� 8(element matrix), 156

��� 345�67, 36

(:��� � (Finite�FGHכ Element Method),

153

(:��� 2�
���� (finite difference method),

123

>�
���� (bisection method), 71

>���� I"���� &��
��, 169

W��2�	��,-, 195

�
��"� 2�
��(forward difference), 124

�
��"�2�
���� (forward difference method),
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